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Solved Example

1. Evaluate :/335 dx

o Watch Video Solution

2. Evaluate /\/E dx

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gNDIuJXFajDR
https://dl.doubtnut.com/l/_X2P2m4mFgMoq

1
3.Eva|uate:/— dx
2

o Watch Video Solution

4.Eva|uate:/\/1— cos’zr dx

o Watch Video Solution

1
5. Evaluate:/— dx
cosec X

o Watch Video Solution

6. Evaluate:/ (6sinx) dx

. Y


https://dl.doubtnut.com/l/_X2P2m4mFgMoq
https://dl.doubtnut.com/l/_nT2DKTiAt8Y9
https://dl.doubtnut.com/l/_feia7m15xobw
https://dl.doubtnut.com/l/_bTgDQCYWRi9z
https://dl.doubtnut.com/l/_Q3ayLaxTQrtv

{ ' Vvald viaco >O1ution

1
7. Evaluate : /(36“’ - + secxtanx)dx

A.e” —log, x +secx + C
1

B.3e” — 5 log,z + tanz secx + C
1

C.3e” — 5 log,xz + secz + C

D.3e” + log.x + secx+ C

Answer: C

° Watch Video Solution

1 2
8.Eva|uate:/ (a:—i—;) dx

3 1
A.w——|—2az———|—C’
3 T


https://dl.doubtnut.com/l/_Q3ayLaxTQrtv
https://dl.doubtnut.com/l/_TFfcAlmFnoTA
https://dl.doubtnut.com/l/_5wTZLA40ZnkK

$2

1
B.— +2zx — — +C
2 T

3

T 49 L ¢
C.?—i— :E—F—F

1
D.(z) +2z — — + C

i

Answer: A

° Watch Video Solution

4
9. Evaluate:/
2 +1

o Watch Video Solution

1
10. Evaluate:/ 5
sin“z cos?z)

o Watch Video Solution



https://dl.doubtnut.com/l/_5wTZLA40ZnkK
https://dl.doubtnut.com/l/_p1bDl81a8SC8
https://dl.doubtnut.com/l/_8x5EIZsmDUq3
https://dl.doubtnut.com/l/_dDpGQB1qbFNe

4 2
11.Eva|uate:/(aw + bz +C) dx

x4

o Watch Video Solution

|2 E . /

° Watch Video Solution

sinx
13. Evaluate : / dx
cos2x

° Watch Video Solution

elog X
14. Evaluate : / dx
T

o Watch Video Solution



https://dl.doubtnut.com/l/_dDpGQB1qbFNe
https://dl.doubtnut.com/l/_OBnUEH94Mow0
https://dl.doubtnut.com/l/_IFe0455x1W9C
https://dl.doubtnut.com/l/_ToGTEEPn1npg

2

4 )
15. Evaluate : / +3sinx dx
CcoS?*x

° Watch Video Solution

secx + tanx
16. Evaluate :
sec x- tan x

° Watch Video Solution

17.Eva|uate:/sec2 3x dx

o Watch Video Solution

18. Evaluate : /(\/4 — 5x)d:c

o Watch Video Solution



https://dl.doubtnut.com/l/_ToGTEEPn1npg
https://dl.doubtnut.com/l/_NQTzvzih5AsR
https://dl.doubtnut.com/l/_skjK3iQYDbvA
https://dl.doubtnut.com/l/_VnjzvkpciEUa
https://dl.doubtnut.com/l/_vwXPb2eho5ff

1
19. Evaluate : /(— dx

3¢ + 4)°

o Watch Video Solution

1
20.Eva|uate:/— dx

V1 —9z2

o Watch Video Solution

1
21.Evaluate: |———— dx
/b2 + a2z?

° Watch Video Solution

22. Evaluate : /sin2 x dx



https://dl.doubtnut.com/l/_vwXPb2eho5ff
https://dl.doubtnut.com/l/_Ig8YZKz0dNeR
https://dl.doubtnut.com/l/_T17hWiomChSh
https://dl.doubtnut.com/l/_lIJhMA6Zafw6
https://dl.doubtnut.com/l/_mTuXJONYV1Om

| ¥ Vvatch Video Solution

23. Evaluate :/ sin bx . cos xdx

o Watch Video Solution

24, Evaluate:ﬁr:3 cos zt dx

° Watch Video Solution

25. Evaluate: /n 2" 1. cos z" dx

o Watch Video Solution

26. Evaluate :/
1+ x4

r


https://dl.doubtnut.com/l/_mTuXJONYV1Om
https://dl.doubtnut.com/l/_500PsoDIMwyQ
https://dl.doubtnut.com/l/_Fptd32S8OwtL
https://dl.doubtnut.com/l/_GRLrKQBZkVXv
https://dl.doubtnut.com/l/_pYIRMX5pUnBI

I ° Watch Video Solution

log x

27. Evaluate: / dzx

T

° Watch Video Solution

d
28. Evaluate /—m

T+ /T

° Watch Video Solution

3
ds

29. Evaluate :/
1+ 28

° Watch Video Solution



https://dl.doubtnut.com/l/_pYIRMX5pUnBI
https://dl.doubtnut.com/l/_7r4UnQjkofOq
https://dl.doubtnut.com/l/_RgHrW0vTL3w2
https://dl.doubtnut.com/l/_fquYCfCeCnzr

30. Evaluate : ﬁ?’\/:cz — 4dzx

o Watch Video Solution

31. EvaIuate:fc sin®z2. cos z2dz

o Watch Video Solution

1—|—10:1:2
32.Eva|uate:/( wg) — dx

° Watch Video Solution

4
33. Evaluate:/w +1
6 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_gML7yWSdAlAO
https://dl.doubtnut.com/l/_HfK2u3CCeGJS
https://dl.doubtnut.com/l/_WhklzwZslp1o
https://dl.doubtnut.com/l/_ypAcqhW1UnL5

1.3

2 _
tan
34. Evaluate: /udx
1+ x6

o Watch Video Solution

msin 'z
35. Evaluate : /—ds
V1—ax2

o Watch Video Solution

1
36. Evaluate : /—dw

x2cos? (l)
X

o Watch Video Solution

37. EvaIuate:/ T
xt + 2

| -


https://dl.doubtnut.com/l/_ypAcqhW1UnL5
https://dl.doubtnut.com/l/_XiEOIH5o8W1h
https://dl.doubtnut.com/l/_p6ZVehRQCQcI
https://dl.doubtnut.com/l/_QExfXGNWdNxb
https://dl.doubtnut.com/l/_CZJDebuHnM53

| & Watch Video Solution

T _ o

38. Evaluate :/e—dx

o Watch Video Solution

in(z — a)
39. Evaluate : /s_—dw
sin(x + a)

o Watch Video Solution

sin(2z)
40. / de =
a

cos? z + bsin’ x

° Watch Video Solution

dx

1
41. Evaluate :/
e —1


https://dl.doubtnut.com/l/_CZJDebuHnM53
https://dl.doubtnut.com/l/_Pw5FO4RpZseN
https://dl.doubtnut.com/l/_3MXzZuGmX0F3
https://dl.doubtnut.com/l/_5HS95Or5YTVs
https://dl.doubtnut.com/l/_3DppRBYDE5QR

o Watch Video Solution

— tanzx
42 Evaluate: [—— dx
1+ tanzx

o Watch Video Solution

an(sin_ 1 :c)
43. Evaluate : dx

V1— g2

o Watch Video Solution

sin 2x

44.Evaluate : - -
/ sin bx. sin 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_3DppRBYDE5QR
https://dl.doubtnut.com/l/_0gYaG69TF8Ip
https://dl.doubtnut.com/l/_GM91phSVsR4U
https://dl.doubtnut.com/l/_imtTnlm6d0et

cos (log x
45.Eva|uate:/% dx

o Watch Video Solution

1
46. Evaluate :/ _ dx
cos (x+a) . sin (x+b)

° Watch Video Solution

1
47. Evaluate :/
4 + x2

o Watch Video Solution

1
48.Eva|uate:/— dx

V1 — e2®

o Watch Video Solution



https://dl.doubtnut.com/l/_PoWuTv2iqUTf
https://dl.doubtnut.com/l/_C3BvXv36gouk
https://dl.doubtnut.com/l/_owz6jnPzURyF
https://dl.doubtnut.com/l/_GPmNfts4ntok

1
49, Evaluate: /— dzx
2+ cosx

o Watch Video Solution

50./ CET

a—x

o Watch Video Solution

1
51.Eva|uate:/—. log x dx
22

° Watch Video Solution

1
52.Eva|uate:/cos_1.zda:

o Watch Video Solution



https://dl.doubtnut.com/l/_GPmNfts4ntok
https://dl.doubtnut.com/l/_CHJaEFCz8kdI
https://dl.doubtnut.com/l/_MPt4XIaft5qr
https://dl.doubtnut.com/l/_XLcEa9ddvhCN
https://dl.doubtnut.com/l/_Jrz83BqByiIr

el/w
53. Evaluate : /
3

dx

o Watch Video Solution

54. /sec3 zdzr

° Watch Video Solution

55. Evaluate:/c sin®? xdx

o Watch Video Solution

56. Evaluate:ﬁ: sin® x dx

| &


https://dl.doubtnut.com/l/_Jrz83BqByiIr
https://dl.doubtnut.com/l/_M9XG5GQXEptT
https://dl.doubtnut.com/l/_0D6RCzANXsvR
https://dl.doubtnut.com/l/_UkFpZCgrRCBO
https://dl.doubtnut.com/l/_QeR4rQZakLla

[ W Watch Video Solution

[z
57. Evaluate:/sin_1 dz
a-+x

o Watch Video Solution

58. Evaluate /82“’ sin 3zdz.

o Watch Video Solution

59. Evaluate: /sin(log z) dz

o Watch Video Solution

1
60. Evaluate: /2“” (logx + E) dx


https://dl.doubtnut.com/l/_QeR4rQZakLla
https://dl.doubtnut.com/l/_DRl3IwKcdEHx
https://dl.doubtnut.com/l/_2cB2o4ezAGuQ
https://dl.doubtnut.com/l/_9gchNHiOgP0J
https://dl.doubtnut.com/l/_Hd3NczURxm95

o Watch Video Solution

61. Evaluate : /ex cos® z(cos z — 3sinz)dz

o Watch Video Solution

T — sinx
62. Evaluate: /—dm
1 —cosx

° Watch Video Solution

1 1
63. Evaluate:/ — 5 dx
logz  (logx)

o Watch Video Solution



https://dl.doubtnut.com/l/_Hd3NczURxm95
https://dl.doubtnut.com/l/_fcLJoXG2UOSE
https://dl.doubtnut.com/l/_n764X5xXWNuD
https://dl.doubtnut.com/l/_CaPOYfh7fNCV

64. Evaluate: /\/9 — z2dx

° Watch Video Solution

65. Evaluate: /cos x \/4 — sin’ z dz

o Watch Video Solution

66. Evaluate: (i) / 4x? 4 9 d (ii) /\/m“’ + 2z + 5dx

° Watch Video Solution

67. Evaluate : /seca:tanac\/4sec2 z — 1ldx

° Watch Video Solution



https://dl.doubtnut.com/l/_h9RNaRRKiTek
https://dl.doubtnut.com/l/_I8UnnFpswTLV
https://dl.doubtnut.com/l/_dRWqSJIu39bp
https://dl.doubtnut.com/l/_UiYzew9LCfy1

dx

1
68. Evaluate :/
4 — g2

° Watch Video Solution

69. Evaluate : / ST dr
(14 cosz)(2 + 3cosz)

° Watch Video Solution

2x
70. Evaluate: d
vauae/(x2+1)(w2+2)a:

° Watch Video Solution

2
71. Evaluate:/ 7 tet+3 dx
(z —2)(z + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_36rN9zC3pxVF
https://dl.doubtnut.com/l/_l3SrNESdsVGr
https://dl.doubtnut.com/l/_l1yB0Cc2JLgn
https://dl.doubtnut.com/l/_kTWRNAz0BFeQ

72.Evaluate : /(:132)(133

o Watch Video Solution

73. Evaluate :/ a: 2da:
(z —2)(z — 1)

o Watch Video Solution

2
1
74.Evlauate : /%dw
(z —1)

° Watch Video Solution

—1
75. Evlauate :/ < dx
(z +1)(z2+1)

| nlll s 1 wae* 1 o~ 1 M


https://dl.doubtnut.com/l/_kTWRNAz0BFeQ
https://dl.doubtnut.com/l/_d1cX9ZqazgFM
https://dl.doubtnut.com/l/_sf5sWaOYGmta
https://dl.doubtnut.com/l/_c61U5DP7iGUv
https://dl.doubtnut.com/l/_aZqo8yrpEQBH

I ™ Vvald video >01ution

76. Evlauate
1

/ 1 + logz?
T [Ei(logac)2 + Tlogx + 2]

3

dxr = log +c

2+ logx

o Watch Video Solution

1
77. Evaluate / dz
1+x

o Watch Video Solution

1
78. Evaluate: / dzx
222+ — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_aZqo8yrpEQBH
https://dl.doubtnut.com/l/_9lBHDhhXax0O
https://dl.doubtnut.com/l/_0jo3c9brPzle
https://dl.doubtnut.com/l/_5yQPjnvzVeS0

1
79. Evaluate: (i d i
valuate: (i) /4x2—4x—|—3 z (i) /:c

1
/9:1:2—|—6:13—|—10

1
(iii)

2 44z + 8

° Watch Video Solution

3 1
80. Evaluate : / Tt dzx
2x2 — 2x + 3

° Watch Video Solution

1
81. Evaluate :/ dx
(z — 1)2 + 32

° Watch Video Solution



https://dl.doubtnut.com/l/_BQ9vjAlC8igL
https://dl.doubtnut.com/l/_mxjerPI5STbQ
https://dl.doubtnut.com/l/_TQBsxQcV4104
https://dl.doubtnut.com/l/_XHVICY4A9eZf

Watch Video Solution

8. /\/21:2 — 5z — ldz

o Watch Video Solution

1

84. EvaIuate:/—zdw
1 —sin“x

o Watch Video Solution

1
85. Evaluate: / dx

a2sin?z + b2 cos? x

o Watch Video Solution

86. Evaluate : fl cos xdx


https://dl.doubtnut.com/l/_XHVICY4A9eZf
https://dl.doubtnut.com/l/_tkmii4lyknXK
https://dl.doubtnut.com/l/_ey9PIBtOV6bj
https://dl.doubtnut.com/l/_0TXeE1f3fGkE
https://dl.doubtnut.com/l/_rC6ppsnHyWNf

o Watch Video Solution

1
87. Evaluate : /—,dm
4+ 5sinx

o Watch Video Solution

88. Evaluate: /(xz + 1)da:

° Watch Video Solution

3
dx

89. Evaluate: / v
x4+ 1

o Watch Video Solution



https://dl.doubtnut.com/l/_rC6ppsnHyWNf
https://dl.doubtnut.com/l/_ZvFS3baJ0tQB
https://dl.doubtnut.com/l/_KrTKpOGMLcYy
https://dl.doubtnut.com/l/_RqhTzHbTBJE1

90. Evaluate: /,/tan xdx

o Watch Video Solution

/4
91. Evaluate : / tanx. seczdzx
0

o Watch Video Solution

w/4
92. Evaluate : / tan® zdz
0

° Watch Video Solution

93. Evaluate :

a 1
—dx
/0 Va2 — x?

° Watch Video Solution



https://dl.doubtnut.com/l/_WpYyAcXgOpON
https://dl.doubtnut.com/l/_6tVdxw2KFUAB
https://dl.doubtnut.com/l/_BABysxK3aZcM
https://dl.doubtnut.com/l/_yPArCkNv1Ltn

S|
94.Eva|uate:/ —dzx
1V

° Watch Video Solution

w/2
95, Evaluate : / sin zdx
0

° Watch Video Solution

dx

a
96.Eva|uate:/ _
0o x2+ a?

o Watch Video Solution

/4
97. Evaluate: / v/ 1— sin® zdz
0

| -


https://dl.doubtnut.com/l/_yPArCkNv1Ltn
https://dl.doubtnut.com/l/_DqWofTYbilnB
https://dl.doubtnut.com/l/_Kg6zoGV6TwNs
https://dl.doubtnut.com/l/_IoGcolIIUG7Q
https://dl.doubtnut.com/l/_htCCls9YrGzE

l & Watch Video Solution

2
98./ v/ 6z + 4dx
0

o Watch Video Solution

w/4
99, Evaluate : / sin 2z sin 3xdx
0

o Watch Video Solution

dx
Va2 +2z+3

4
100. Evaluate : /
0

° Watch Video Solution



https://dl.doubtnut.com/l/_htCCls9YrGzE
https://dl.doubtnut.com/l/_eXZ2fanmVYx3
https://dl.doubtnut.com/l/_XZ0W9hyX8Xlr
https://dl.doubtnut.com/l/_Kht0G0lRnRPQ

S

—dx
1 V2z +1

101. Evaluate :

° Watch Video Solution

4
102. Evaluate:/ z. e2*dx
0

o Watch Video Solution

w/2
103. Evaluate : / sin® zdz
0

° Watch Video Solution

104. Evaluate :

/2 dx
1 zvx?2 -1

° Watch Video Solution



https://dl.doubtnut.com/l/_WLfpZd2yIRPg
https://dl.doubtnut.com/l/_oQSin2uFDODb
https://dl.doubtnut.com/l/_jbboWIWHJv3Y
https://dl.doubtnut.com/l/_2XyJJnWBOIdL

2 cos(log x
105. Evaluate:/ #dw
1

° Watch Video Solution

w/6
106. EvaIuate:/ &dw
0 3+ 4sinx

o Watch Video Solution

1
107./ L
0 1+ z2

° Watch Video Solution

w/2
108. Evaluate : / sin® z cos zdz
0



https://dl.doubtnut.com/l/_2XyJJnWBOIdL
https://dl.doubtnut.com/l/_66hh1Hu2sYQC
https://dl.doubtnut.com/l/_T8vtPgbUHJKx
https://dl.doubtnut.com/l/_ECwEoxCCTXGt
https://dl.doubtnut.com/l/_nvC78n6y36xB

I o Watch Video Solution

CL‘2

dx

1
109. Evaluate:/
0o 1+ ab

° Watch Video Solution

133

110. Evaluate/
V1-— xz

o Watch Video Solution

1 (ta,n_1 x)2
111. Evaluate : / ——dzx
0 1+ x2

o Watch Video Solution



https://dl.doubtnut.com/l/_nvC78n6y36xB
https://dl.doubtnut.com/l/_VvJil71OnNPg
https://dl.doubtnut.com/l/_zCTIe0NNafTy
https://dl.doubtnut.com/l/_qu0mIVI6SM1A

2

w/2
112. Evaluate : / _ 9T
0 1+ sin“x

o Watch Video Solution

€

"
\/ECB

1
113. Evaluate: /
0

o Watch Video Solution

xtan 1z

1
114. Evaluate:/ dx
0 (1+x2)%?

o Watch Video Solution

1

9
115.Eva|uate:/ —  dx
0o 1+ 4z

| ° Watch Video Solution


https://dl.doubtnut.com/l/_LK3xOCwd4R3u
https://dl.doubtnut.com/l/_67PY41QMvBgt
https://dl.doubtnut.com/l/_sHpciaOLSZXo
https://dl.doubtnut.com/l/_UpVB1HlZ6bTz

1
116. Evaluate:/ cos ldz
0

o Watch Video Solution

/2 CoS T
17. EvaIuate/ - - dz.
o (14 sinz)(2+ sinz)

° Watch Video Solution

1

a2 cos? z + b2 sin? :13) dz

w/2
118. Evaluate:/
o

° Watch Video Solution

/2 sin s
119. Prove that: - ddx = —
0 sinx + cos T 4



https://dl.doubtnut.com/l/_UpVB1HlZ6bTz
https://dl.doubtnut.com/l/_8qUM9AJw6xim
https://dl.doubtnut.com/l/_O1hJ4bXLjeoY
https://dl.doubtnut.com/l/_a89UmFBew159
https://dl.doubtnut.com/l/_VkoGqKfpIPLj

o Watch Video Solution

w/2 1
120. Prove that: / _ =
0

1+ tan’ z

| 3

° Watch Video Solution

w/2
121. Prove:/ log|tanz| dz = 0
0

° Watch Video Solution

3a/4
122./ Ve de = 2
a/4 Va—zx+ T 4

° Watch Video Solution



https://dl.doubtnut.com/l/_VkoGqKfpIPLj
https://dl.doubtnut.com/l/_FiWLPqLUehVP
https://dl.doubtnut.com/l/_cG0e8Oin1L1F
https://dl.doubtnut.com/l/_IRuspuSQGhfr

a
123. Prove that: / :133\/(12 — 2%dx = 0
—a

° Watch Video Solution

a 2 o
124. Prove that: / 10g< ? >d:13 =0
a 2+ x

° Watch Video Solution

0 x 0
125. Prove that: dr = —
o (1+z)(1+2?) 4

° Watch Video Solution

126. Prove that:

w/2 w/2 -
/ log(sinz)dx = / log(cos z)dx = Tlog2
0 0

[ 1


https://dl.doubtnut.com/l/_66nJNBHzPIHX
https://dl.doubtnut.com/l/_J155AbJnNz9V
https://dl.doubtnut.com/l/_3jkZXcz53ML4
https://dl.doubtnut.com/l/_DTyZXdIG8weO

| @ Watch Video Solution

sin’ z

127. Evaluate:/2 dx
0

S €Ex +cosx

° Watch Video Solution

1 T
128. Evaluate: /|5x—3|d:c (ii) /|c0sa:|d:c (iii)

5
/ |z — 2|dz (iv) / elelde | /’m —|—2w—3'daz (v)

:
/(|w—1|—|—\az—2|—|—|a:—3|)da: VI/ ':c —:13|d:c
1

° Watch Video Solution

™
129. Evaluate:/ |cos z|dz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_DTyZXdIG8weO
https://dl.doubtnut.com/l/_9GVXjjSREvMx
https://dl.doubtnut.com/l/_iDgwjXh1jVQH
https://dl.doubtnut.com/l/_flSlejc4IPIa

w/8
130. Prove that / log|1l 4 tan2z| dz = 17T—610ge 2.
0

° Watch Video Solution

b
131. Evaluate / z2dz as limit of the sum.
a

o Watch Video Solution

b
132. Evaluate: / e“dx using limit of sum
a

o Watch Video Solution

2

133. Evaluate : / e*dzx as a limit of sum.
-1

o Watch Video Solution



https://dl.doubtnut.com/l/_B237ZuP7Jk8B
https://dl.doubtnut.com/l/_M6TBWXnRA7KY
https://dl.doubtnut.com/l/_J9wi2BLj6i11
https://dl.doubtnut.com/l/_8C97FsEp1McP

Exercise 7a

Answer: A

o Watch Video Solution

2./338 dx
f

- ]



https://dl.doubtnut.com/l/_8C97FsEp1McP
https://dl.doubtnut.com/l/_mM0o87wYz9mF
https://dl.doubtnut.com/l/_DCp8r2Iwsot4

_ o Watch Video Solution

3./m—6 dx

o Watch Video Solution

1
4, d
./a:\/E v

1
A — (5):6_1/2 +c

B. —2x 1/2 +c

C.—1g1/2 +c

1
D.—g.x_l/z—l—c
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DCp8r2Iwsot4
https://dl.doubtnut.com/l/_96ql0jDwRAbB
https://dl.doubtnut.com/l/_6QYhKbdy463K

5. /%d:c

o Watch Video Solution

6./,2_1/3 dz

o Watch Video Solution

7. [2° dx

o Watch Video Solution

8. ﬁ)”“ dx

| ° Watch Video Solution


https://dl.doubtnut.com/l/_6QYhKbdy463K
https://dl.doubtnut.com/l/_IOO2Am4XRZCJ
https://dl.doubtnut.com/l/_b05epb4o8HCl
https://dl.doubtnut.com/l/_gNk84o9IWhIF
https://dl.doubtnut.com/l/_IH8RrvanyTuR

o.

1
- d
V1—1? Y

o Watch Video Solution

1
0. [t
tvit2 — 1

o Watch Video Solution

11./sec2 z dz

o Watch Video Solution

1
cos . cot x

f


https://dl.doubtnut.com/l/_IH8RrvanyTuR
https://dl.doubtnut.com/l/_XqJk9BzACO1R
https://dl.doubtnut.com/l/_mneiMmiRPgpI
https://dl.doubtnut.com/l/_yDfrrY5gE2Tb
https://dl.doubtnut.com/l/_YwZgq16PT0i1

l o Watch Video Solution I

1
13./ dx
4—$

o Watch Video Solution

1
14. /T dz
e X

o Watch Video Solution

6 1 x
1. w—;—i—e + 3 |dx

° Watch Video Solution



https://dl.doubtnut.com/l/_YwZgq16PT0i1
https://dl.doubtnut.com/l/_fPcaqYGJoBEM
https://dl.doubtnut.com/l/_B9dxfYSkFcCX
https://dl.doubtnut.com/l/_EtfIMudkQPmZ

2.Find the integral/(a:z:2 + bx + c) dx

o Watch Video Solution

3. /(3:1; —2)%dz

o Watch Video Solution

4. Evaluate /can2 xdx

° Watch Video Solution

3z — 2
5/( v —I—em)dw
T

° Watch Video Solution



https://dl.doubtnut.com/l/_iqtfBoHdkpFl
https://dl.doubtnut.com/l/_DyRFrMBAgIN9
https://dl.doubtnut.com/l/_xCcMib4MA6cy
https://dl.doubtnut.com/l/_oEDnmlTJSMI1

1
1 —sinx

o Watch Video Solution

ecr —tancx
7.'/s dzx
secx + tanx

o Watch Video Solution

2
8./ v dx
1+ x2

o Watch Video Solution

9, /,/1 + sin2zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_Ogkhn6OfYGql
https://dl.doubtnut.com/l/_ywp4D8kyk8G9
https://dl.doubtnut.com/l/_pX7G95cslIek
https://dl.doubtnut.com/l/_tjTqTzxzNjU5

1
10. Evaluate : /—dw
1+ costx

o Watch Video Solution

2
11./“3 +3
2 +1

o Watch Video Solution

12./ v dz
T+ a

° Watch Video Solution

2 B
B [F 20,

NG



https://dl.doubtnut.com/l/_tjTqTzxzNjU5
https://dl.doubtnut.com/l/_GlPRjh92AAfN
https://dl.doubtnut.com/l/_0TJCcHPKQkZx
https://dl.doubtnut.com/l/_ElgKjnjkLVle
https://dl.doubtnut.com/l/_gPoPLESJnCD6

| ¥ Vvatch Video >Solution

14. /(ta,nx + cos z)’dz

o Watch Video Solution

1
15. —d
/1 + cos 2z v

° Watch Video Solution

1
1. - -
6/1—c052:1r;da3

o Watch Video Solution

17. /,/1 + cos 2zdx

r


https://dl.doubtnut.com/l/_gPoPLESJnCD6
https://dl.doubtnut.com/l/_RFnpKG6oOLVT
https://dl.doubtnut.com/l/_bTvBvcc3CUs5
https://dl.doubtnut.com/l/_WiBB8dnmzvBs
https://dl.doubtnut.com/l/_ak6hErIkVKOe

| o Watch Video Solution

18. /,/1 — cos 2zdzx

o Watch Video Solution

—3coszx
19. -F—zd:c
sin“ x

° Watch Video Solution

1 2
20. mdw
1 — cos2x

° Watch Video Solution

3 : 3
. [cos®x 4+ sin” x
21. (1) dz
. 2 2
sin® x. cos? x

Cos 2x

0s2 z sin’

dx



https://dl.doubtnut.com/l/_ak6hErIkVKOe
https://dl.doubtnut.com/l/_JRAPoovxpAmp
https://dl.doubtnut.com/l/_SY89JxXeTcxk
https://dl.doubtnut.com/l/_QXyQZzWOmqv9
https://dl.doubtnut.com/l/_rORNbvOv1Xkg

o Watch Video Solution

22./(:(: + 1)(2z — 3) i

Z

° Watch Video Solution

23. /e“?’dx

o Watch Video Solution

sinx
24. /—,daz
1+ sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_rORNbvOv1Xkg
https://dl.doubtnut.com/l/_dJ05zoU9MlAX
https://dl.doubtnut.com/l/_jOI4QSzQGpX9
https://dl.doubtnut.com/l/_2Cmb8AQjiQdQ

3 3
25. (4) H—ﬁ“")daz (44) /(1:—4“’)@

o Watch Video Solution

26./1_xdx
NZA

o Watch Video Solution

Exercise 7¢

1. Evaluate: /(a,ac +b)’da

o Watch Video Solution



https://dl.doubtnut.com/l/_14Y8ckG9nzON
https://dl.doubtnut.com/l/_pJOitbdnvnuz
https://dl.doubtnut.com/l/_9ujYBSwvgCZK

2./(3 — 7z)°da

o Watch Video Solution

3. /\/2:1: — 1dz

° Watch Video Solution

1
Ny
(a + bx)

o Watch Video Solution

/ 1
5./ 2x + gdi[l

o Watch Video Solution



https://dl.doubtnut.com/l/_n1JsUhOvxBGl
https://dl.doubtnut.com/l/_oDP1Ivb6cIYE
https://dl.doubtnut.com/l/_6I8BVLScMSd9
https://dl.doubtnut.com/l/_Koi8wD887SfR

6. /—(730 i 2)2 dx

o Watch Video Solution

7.(7)

’L’L

o Watch Video Solution

8. /ﬁdaz
!

o Watch Video Solution

1
9./ 2dm
3+ (2 —3x)

f


https://dl.doubtnut.com/l/_Koi8wD887SfR
https://dl.doubtnut.com/l/_qwEh73LV7NMy
https://dl.doubtnut.com/l/_4mGGxFVEhkvh
https://dl.doubtnut.com/l/_sh9gQg8gNDOp
https://dl.doubtnut.com/l/_F1AZfLXFLbdi

o Watch Video Solution

10. /cos(2m + 1)dz

° Watch Video Solution

1. /sec2(1 — 5z)dz

o Watch Video Solution

12. Evaluate /:os?’ xzdx.

o Watch Video Solution

13. /cos 4x. cos 2xdx


https://dl.doubtnut.com/l/_F1AZfLXFLbdi
https://dl.doubtnut.com/l/_En82KPtIVhf8
https://dl.doubtnut.com/l/_lXiSH4D5czqg
https://dl.doubtnut.com/l/_MzhrdB7ymUo9
https://dl.doubtnut.com/l/_zKGC4wJfaVK5

° Watch Video Solution

sin4x

14. (i)/sin 2z. cos brdx (zz)/ dz

sin

o Watch Video Solution

15. /\/1 + sinzdzx

° Watch Video Solution

16. (4) /\/ 1 + sin. %dm

1 4
(i) [— 5524,
cotx — tanzx

o Watch Video Solution



https://dl.doubtnut.com/l/_zKGC4wJfaVK5
https://dl.doubtnut.com/l/_rgiRIM6plEoi
https://dl.doubtnut.com/l/_3rCmVzRQwxIA
https://dl.doubtnut.com/l/_3yqasZwRJ4Y3
https://dl.doubtnut.com/l/_OST5g2s2tYVS

17. '/€2$+5dw

o Watch Video Solution

18. /64_3””d:13

o Watch Video Solution

2
19. Evaluate: ﬁﬂ dx
z2(1+ )

° Watch Video Solution

20. /{Saw + 6a cos(bx + 1) }dx

o Watch Video Solution



https://dl.doubtnut.com/l/_OST5g2s2tYVS
https://dl.doubtnut.com/l/_UAKkMtOuEDKk
https://dl.doubtnut.com/l/_20Ebpa4igm83
https://dl.doubtnut.com/l/_CdFyvjS5Tj7G
https://dl.doubtnut.com/l/_j7REuYLTXdGX

21 / ldz
(z —2)vVa? — 4z + 3

° Watch Video Solution

da:

22/
\/1— 3:c—|—2

o Watch Video Solution

1 4
23.If f'(z) = P z? and f(1) = 3 then find the value of

f(z)

° Watch Video Solution



https://dl.doubtnut.com/l/_j7REuYLTXdGX
https://dl.doubtnut.com/l/_YL7mFAmd5KVC
https://dl.doubtnut.com/l/_j5lUef2gds0q
https://dl.doubtnut.com/l/_r7Dt4wLdBJsQ

1. /3053 . sinzdx

° Watch Video Solution

2. /9132. sinzidz

o Watch Video Solution

3. /cos ec’z. v/cotdx

o Watch Video Solution

4, /cot?’ x. cos ec’zdr

o Watch Video Solution



https://dl.doubtnut.com/l/_r7Dt4wLdBJsQ
https://dl.doubtnut.com/l/_nq98yro6pqJd
https://dl.doubtnut.com/l/_RJKvLDOTOBoR
https://dl.doubtnut.com/l/_LJNKRm4CqyqM

22
5./ dx
1+ x6

° Watch Video Solution

log z)°
6. fL)dm
T

° Watch Video Solution

72
7. /\—dm
V1+ a3

o Watch Video Solution

8. /sec z.log(secz + tanz)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_i8RrbmnKAqq4
https://dl.doubtnut.com/l/_7N7Uruhl6KDx
https://dl.doubtnut.com/l/_fpAijhl2ETnC
https://dl.doubtnut.com/l/_2JrVPKONyOq1

0. /de
V14 2

° Watch Video Solution

2
10. /m—dm
1— 223

° Watch Video Solution

11./Lda:
Vv1+ 2?2

° Watch Video Solution

12. /1:2. tan® z3. sec® z3dzx

I o wAr_a_L vl e~_ .. _


https://dl.doubtnut.com/l/_2JrVPKONyOq1
https://dl.doubtnut.com/l/_YA8bFfLf7dFy
https://dl.doubtnut.com/l/_FCdac1jK7pcq
https://dl.doubtnut.com/l/_jaUWWk2LQPLF
https://dl.doubtnut.com/l/_TKT0XSa4laO5

— Vvdllll VIUCO o0I1ULIVII

3. /Ldm
V14 xd

o Watch Video Solution

14. fv cos® z2. sin z2dzx

o Watch Video Solution

3
15. /w—2dw
(4 — z4)

o Watch Video Solution

1
16. / dz
z cos?(log, )


https://dl.doubtnut.com/l/_TKT0XSa4laO5
https://dl.doubtnut.com/l/_BYrHM1a9XVv0
https://dl.doubtnut.com/l/_sJTUIHuls8FI
https://dl.doubtnut.com/l/_8ERWNb5GBjSL
https://dl.doubtnut.com/l/_FrDXgGw9MqUV

o Watch Video Solution

Z

2(log.
7 /cos (log m)d

T

o Watch Video Solution

log . sin[l + (log :13)2}

18. (%) - dz

g dzx
(m)/a:(l + log)”

o Watch Video Solution

1
19./ 5 dz
cos?z(1 — tanz)

° Watch Video Solution



https://dl.doubtnut.com/l/_FrDXgGw9MqUV
https://dl.doubtnut.com/l/_ZEMECeKIwitO
https://dl.doubtnut.com/l/_TUI6Y57KeP6v
https://dl.doubtnut.com/l/_basI9QKdccNp
https://dl.doubtnut.com/l/_jJ9M9vR5OZZU

20./ azdm3 :
(1+ 22)*

° Watch Video Solution

3
21. Evaluate: (i) /ﬂ dx (ii) /42:c dx

1 + cos? + 28

° Watch Video Solution

VZ cos (eﬁ) s
22. Evaluate: (i) dx (ii) / - dx

vz sin

o Watch Video Solution

23. /e“”. (a + be®)"dx

° Watch Video Solution



https://dl.doubtnut.com/l/_jJ9M9vR5OZZU
https://dl.doubtnut.com/l/_NucP1jsjW2CM
https://dl.doubtnut.com/l/_RhNdqyS68sfL
https://dl.doubtnut.com/l/_vSoVwvZZwMTi

2. (i) /%dw (i) / \/1—7m2lsin_1wdw

° Watch Video Solution

2

sinx. cos T
25. dz
a?cos?z + b?sin”

o Watch Video Solution

26. '/c0s2 zdx

o Watch Video Solution

27. /sin2 nxdzx

| o


https://dl.doubtnut.com/l/_vSoVwvZZwMTi
https://dl.doubtnut.com/l/_jNXWNay4pG89
https://dl.doubtnut.com/l/_YqMEJpmeRs9W
https://dl.doubtnut.com/l/_dIKBoXo9hcTh
https://dl.doubtnut.com/l/_AiBjSONrwd4a

l & Watch Video Solution

28. /sin5 xdx

o Watch Video Solution

dx

(a + bsin_lx)n
29./
v1— 22

° Watch Video Solution

30. / cosec*2zdz

o Watch Video Solution

31. Evaluate: -/sec4 x dx


https://dl.doubtnut.com/l/_AiBjSONrwd4a
https://dl.doubtnut.com/l/_Rb3DkbMi7JE0
https://dl.doubtnut.com/l/_BDlnz8KgnNJi
https://dl.doubtnut.com/l/_1QkTSiGOwaq3
https://dl.doubtnut.com/l/_xyRIwAXXRF6t

o Watch Video Solution

32. /'sin2/ 3 ¢ cos® zdx

° Watch Video Solution

33. /cos 2x. cos 4x. cos 6xzdx

° Watch Video Solution

2¢ — 1
34./ dr
Va2 —z —1

° Watch Video Solution



https://dl.doubtnut.com/l/_xyRIwAXXRF6t
https://dl.doubtnut.com/l/_9LAHWfGNg1aI
https://dl.doubtnut.com/l/_cxrgcEapnleq
https://dl.doubtnut.com/l/_M2ZGVVD1E359

35. / cos? 2x dx

o Watch Video Solution

36./ cos’(3z + 5)dx

o Watch Video Solution

1 (1 .. 4
37. Evaluate: (i) —cos”| — dx (ii) [sec” x tanx dx

T i

o Watch Video Solution

3
38, /Lde
(z2 + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_dayF2GO5R1VI
https://dl.doubtnut.com/l/_HOYl2vDKfYAM
https://dl.doubtnut.com/l/_xzlgcmcQxW0b
https://dl.doubtnut.com/l/_LKroCf4p5ikX

Exercise 7e

1. (z‘)/l _e:’em dr (ii)/ﬁdw

o Watch Video Solution

/ cot
2. .
log(sinz)dx

o Watch Video Solution

sinx
3. /—dw
a+bcoszx

o Watch Video Solution



https://dl.doubtnut.com/l/_LKroCf4p5ikX
https://dl.doubtnut.com/l/_PyAH4XsS3MbJ
https://dl.doubtnut.com/l/_XxQi8Fqvqdsi
https://dl.doubtnut.com/l/_UPqT3LKfsCDq

$2
Y —
(z° +4)

o Watch Video Solution

5. /—em(l ) dx

sin?(ze?)

o Watch Video Solution

6./sec2m dx
vtanzx

o Watch Video Solution

1

1 etan* T
7. (2 d %} d
(Z)/(l—i-m?)tan_lx v (Zz)/1+a:2 v

o Watch Video Solution



https://dl.doubtnut.com/l/_7ArDtfCeluD3
https://dl.doubtnut.com/l/_6eLbQzfNllcT
https://dl.doubtnut.com/l/_5CClJL19GFxK
https://dl.doubtnut.com/l/_4V2NiUprKGmM

e +sinx

e’ 4+ cosx
8 /—dm

° Watch Video Solution

9. (i) / SECT BT 3 (i) ﬁ:an4ac dz

logcot x

o Watch Video Solution

COS T
1+ sinx

° Watch Video Solution

sinx
11. Evaluate: /— dzx
sin(z — a)

| &


https://dl.doubtnut.com/l/_4V2NiUprKGmM
https://dl.doubtnut.com/l/_6A3F4fmoSlqL
https://dl.doubtnut.com/l/_I3CfUkNpSD4U
https://dl.doubtnut.com/l/_ONEL7lDnf40m
https://dl.doubtnut.com/l/_GkQfcic8JlxN

[ @ Watch Video Solution

12. Evaluate:/ a4 dx
b+ ce®

o Watch Video Solution

1
13. (z)/ dz
vV1—22 cos 1z

(m)/sm(ltin;: w) i

° Watch Video Solution

sin 2z
14. /—dw
5 — cos?zx

o Watch Video Solution



https://dl.doubtnut.com/l/_GkQfcic8JlxN
https://dl.doubtnut.com/l/_ZHydhH4iv40Q
https://dl.doubtnut.com/l/_D9wth8DJSCU7
https://dl.doubtnut.com/l/_hBCp0X6vf5ge

— pdl 1
. (i)/cosm msmxdw (zz)/( —|—cosa:3dw

T COS T

° Watch Video Solution

e—1 __ _z—1
16./‘” € 4z

we_ew

o Watch Video Solution

an(1 + lo
1./t n( gx)da:

Z

° Watch Video Solution



https://dl.doubtnut.com/l/_Cf6arGWIIM7J
https://dl.doubtnut.com/l/_4yUVmHFrApVv
https://dl.doubtnut.com/l/_Qhy4lLV3SbFJ

1
2./ dzx
v/1 4+ cos2x

° Watch Video Solution

1
3. (i)/sec7 z.sinzdx (i7) dzx

sinx. cos?

o Watch Video Solution

4. Evaluate

/cos(w — a)lcos(zc — b) de

o Watch Video Solution

1
5. Evaluate: /— dzx
Vaz? — 9

| &


https://dl.doubtnut.com/l/_zEv3HNbNzEx9
https://dl.doubtnut.com/l/_M9MfoZ1x12Gn
https://dl.doubtnut.com/l/_Aptv5I3tmTNF
https://dl.doubtnut.com/l/_qDp9k0qrVKui

[ W Watch Video Solution

1
6. /—dw
vz —9

o Watch Video Solution

1
L] —d
7/5—|—4cosw v

° Watch Video Solution

1
8. Evaluate: d
vaiuate /sin(a: — a)sin(z — b) v

° Watch Video Solution

0. /Ldm
422 +9


https://dl.doubtnut.com/l/_qDp9k0qrVKui
https://dl.doubtnut.com/l/_9IGIoz4SEri8
https://dl.doubtnut.com/l/_yNvSMkJ5cOJt
https://dl.doubtnut.com/l/_N1n8I9FPrghD
https://dl.doubtnut.com/l/_dmjL27B56UUJ

o Watch Video Solution

x2dx
10. /
4 4 x2

° Watch Video Solution

1
11. Evaluate: /— dx
Vazx? — 9

o Watch Video Solution

1
12. /—d:c
Vor?2 —1

o Watch Video Solution



https://dl.doubtnut.com/l/_dmjL27B56UUJ
https://dl.doubtnut.com/l/_5oTDXF7PYugY
https://dl.doubtnut.com/l/_FiwtTPdeTuHl
https://dl.doubtnut.com/l/_Tt84CxKr8xTY

T 2
e x
13. Evaluate: (i) [———— dxz (ii) /— dx
V4 — e V31— x6

° Watch Video Solution

1
14. Evaluate: /— dzx
et +e 2

o Watch Video Solution

i
15./ T
r—1

o Watch Video Solution

Z

1
16./ - dx
2(5(34 + 1)2

o Watch Video Solution



https://dl.doubtnut.com/l/_aQBoJI9oixdm
https://dl.doubtnut.com/l/_P1bOvcayZy9E
https://dl.doubtnut.com/l/_iAFHsEMXtdU1
https://dl.doubtnut.com/l/_5EU6k7aiYfw1

1
17. Evaluate /—,dw
1+ sinx

° Watch Video Solution

18. (i) sinx J ()/ z? d
. (7 T 11) [——d=zx
V4 + cos? z V9 + z6

° Watch Video Solution

2 1
19. (4) / BT e (i) [
V1 —4cos?zx \/ac2—|—

° Watch Video Solution

20. Evaluate: ( x (ii)

1
— dx
./\/1—|—cos2w v/1—coszx

| &


https://dl.doubtnut.com/l/_5EU6k7aiYfw1
https://dl.doubtnut.com/l/_WcyAY51mVZ3J
https://dl.doubtnut.com/l/_f2Us764H6zBv
https://dl.doubtnut.com/l/_KGjNSi0S09EX
https://dl.doubtnut.com/l/_7q9eKkJ3BHKf

[ W Watch Video Solution

21. /sec6/5 z. cosect/ Pxdx

o Watch Video Solution

22
22. Evaluate: /—2da:
(a + bx)

° Watch Video Solution

2
23./w 1 e
(x +1)

o Watch Video Solution

24. /\/1 + 2tanz(tanz + secz)dx


https://dl.doubtnut.com/l/_7q9eKkJ3BHKf
https://dl.doubtnut.com/l/_nJVggiV4eADN
https://dl.doubtnut.com/l/_Alqvm3sKU3Et
https://dl.doubtnut.com/l/_AWrxzLYnnc2x
https://dl.doubtnut.com/l/_WII4XNjdTG4L

o Watch Video Solution

1./10g6 x dx

° Watch Video Solution

2. Evaluate : /ac" log xd.

o Watch Video Solution

3. fr a®dzx

o Watch Video Solution



https://dl.doubtnut.com/l/_WII4XNjdTG4L
https://dl.doubtnut.com/l/_XZewKHyQvZIU
https://dl.doubtnut.com/l/_8HQuT0n2CZHI
https://dl.doubtnut.com/l/_31Hzy8wydJZO

4.-/xsec2 x dx

o Watch Video Solution

5. Evaluate: fv log(1 + z) dx

o Watch Video Solution

6./xsec2 x dx

° Watch Video Solution

7. fc tan ! zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_8iWQKJXl6qK9
https://dl.doubtnut.com/l/_c2tjTS8QejnB
https://dl.doubtnut.com/l/_FVZ1K7tCeBjR
https://dl.doubtnut.com/l/_RwgIZSnJwQVT

8.  Evaluate: (i) /sec:c log(secz + tanx) dz (ii)

/cos ec x log(cosecz — cot x) dx

o Watch Video Solution

0. /sin \/E dx

° Watch Video Solution

10. (z)ﬁrz2 cos x dx (iz’)ﬁ:ze?’“’ dx

° Watch Video Solution

1. (z')/xsec2 2x dx (ii)/xsin3 x dx

| o WMiabl .\t daa Al ikta



https://dl.doubtnut.com/l/_YSaXRkXzEHcm
https://dl.doubtnut.com/l/_crBpMsA5RSAx
https://dl.doubtnut.com/l/_o7g5wxJCqtIh
https://dl.doubtnut.com/l/_IOSMqIkN03RO
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12. Evaluate /sin_1 zdx.

o Watch Video Solution

13. /cot_lac dzx

o Watch Video Solution

14, fn3ew2dw is equal to

° Watch Video Solution



https://dl.doubtnut.com/l/_IOSMqIkN03RO
https://dl.doubtnut.com/l/_AakoiJlPb0rQ
https://dl.doubtnut.com/l/_MoYHlFdmL3NK
https://dl.doubtnut.com/l/_JFJVETemjJ6T

2x
15. /sin_l( )dmisequa <o
1+ z2

rtan 'z — 1n|sec(1:a,n_1 a:)| +c
rtan 'z + ln|sec(t::1,n_1 :c)‘ +c

rtan 'z — ln‘cos(ta,n_1 a:)’ + c none of these

o Watch Video Solution

1— 22
16. Evaluate: /cos_1 ( ) dzx
1+ 22

° Watch Video Solution

.3
. ﬁ;(?*_)d
1 — 322

° Watch Video Solution



https://dl.doubtnut.com/l/_ur84XnuZqnwT
https://dl.doubtnut.com/l/_fu7r1ctAl1UF
https://dl.doubtnut.com/l/_nFzQ02VdUJqr
https://dl.doubtnut.com/l/_dvLnGn7U3NdH

1

) —
t

18. Evaluate /wdm.
1+ x2

o Watch Video Solution

1
19./ Smo2
(1—332)3/4

o Watch Video Solution

:I:tan_l x

20. Evaluate /—3dw
(1+ 22)2

o Watch Video Solution

21. / cosec® x dx

o Watch Video Solution



https://dl.doubtnut.com/l/_dvLnGn7U3NdH
https://dl.doubtnut.com/l/_7WKCTvHt0Eqy
https://dl.doubtnut.com/l/_REBdjtklL9AI
https://dl.doubtnut.com/l/_0snjShKYqqxk

22./ sec (tan~' x ) dx

o Watch Video Solution

1
23.Eva|uate:/ ztan @ dx
(1+22)*\?

o Watch Video Solution

24, /23"” cos 2x dx

o Watch Video Solution

25. Evaluate '/92”” sin 3zdz.

o Watch Video Solution



https://dl.doubtnut.com/l/_KYfksO5aKYuY
https://dl.doubtnut.com/l/_0SWCTwvgpc3L
https://dl.doubtnut.com/l/_yXywGZSrWrYs
https://dl.doubtnut.com/l/_Iza17o49uHwo

26. /L_dx
(1+ sinx)

o Watch Video Solution

27. /eﬁdw

° Watch Video Solution

28. Evaluate '/92”” sin 3zdz.

o Watch Video Solution

29./ log sinx . sec® x dx

I o Watch Video Solution


https://dl.doubtnut.com/l/_Iza17o49uHwo
https://dl.doubtnut.com/l/_IhBoW9NQvwCe
https://dl.doubtnut.com/l/_as3PdZItTeg2
https://dl.doubtnut.com/l/_62e5n7drzmO3
https://dl.doubtnut.com/l/_BNk4tVNfGrkr

30./9 simx - gin 2x dx

o Watch Video Solution

31./3"”. cos’® xdx

° Watch Video Solution

1. /ew . (cot x- cosec” x) dx

o Watch Video Solution



https://dl.doubtnut.com/l/_BNk4tVNfGrkr
https://dl.doubtnut.com/l/_lxizKNHB6XXQ
https://dl.doubtnut.com/l/_jlWomzFZhgNp
https://dl.doubtnut.com/l/_oo0vt3cqqPfj
https://dl.doubtnut.com/l/_UpMeTDS5CrSS

2. /em. sin x( sin x+ 2 cos x) dx

o Watch Video Solution

3. (z)/ez [log (sec x+tan x) + sec x dx

(ii)/e_"”(cos z — sinx) s

cos? ¢

o Watch Video Solution

4. fax(logsinw + cot z)dx

° Watch Video Solution

5. Evaluate: /3“” <sina:cosa: _ 1) d
. : > x

sin“

o Watch Video Solution



https://dl.doubtnut.com/l/_UpMeTDS5CrSS
https://dl.doubtnut.com/l/_AKAIBkM7aYeG
https://dl.doubtnut.com/l/_fHEA5BfRPtiu
https://dl.doubtnut.com/l/_zy2LWVI0rybY

6. Evaluate: /{s € (logz) + cos(logx) }dx

° Watch Video Solution

. x—sin2a:d
"1 " cos2z ¥

o Watch Video Solution

2
8. Evaluate: /e“’x——i_z dx
(z+1)

° Watch Video Solution



https://dl.doubtnut.com/l/_zy2LWVI0rybY
https://dl.doubtnut.com/l/_cHtEXqDTc1OL
https://dl.doubtnut.com/l/_RwqlCITGZwUB
https://dl.doubtnut.com/l/_pqrrXqo410VA
https://dl.doubtnut.com/l/_f0hNEHDtGtde

I o Watch Video Solution

— 2
10./w 3 .efdx
T

o Watch Video Solution

11./92"’ (tan x+1)’dz

° Watch Video Solution

T + sinx
12. Evaluate /+—da:
1+ coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_f0hNEHDtGtde
https://dl.doubtnut.com/l/_Q6dnRLWsXCbF
https://dl.doubtnut.com/l/_QPldoxX6S3Gb
https://dl.doubtnut.com/l/_wsORCsBecb7o

13. (z)/wdw

T
- 1+sinz \
(ZZ)/(l—Fcosw)e dz

o Watch Video Solution

_ 1+ z + 2
14. The value of/etan lx(—)dm
14 2

° Watch Video Solution

. 1
15. Find /[bg(log z) + ] dz

(logz)?

o Watch Video Solution



https://dl.doubtnut.com/l/_tnK4TxyLGKK2
https://dl.doubtnut.com/l/_BWTXYlXo5ExE
https://dl.doubtnut.com/l/_NXsmBRS5MnTW
https://dl.doubtnut.com/l/_LG2i8znQc4nA

1./ 9 — 4z’dx

o Watch Video Solution

Z.ﬁ\/ z* + 9dzx

o Watch Video Solution

3. /seca:tanac\/ta,nzx — 4dzx

° Watch Video Solution

4. Evaluate: /:1:2\/0,6 — 2%z

o Watch Video Solution



https://dl.doubtnut.com/l/_LG2i8znQc4nA
https://dl.doubtnut.com/l/_9W95GSewuYr2
https://dl.doubtnut.com/l/_Uc7Q7sV9Slpi
https://dl.doubtnut.com/l/_f32faCq7rG2b

z2 +1
5. [———dzx
vaz + 3

° Watch Video Solution

6. ﬁ2\/a:6 — 1dx

o Watch Video Solution

7. /secwtana:\/sec2 z + ldzx

o Watch Video Solution

8. /\/ 2 — 3z2dx

° Watch Video Solution



https://dl.doubtnut.com/l/_GoMCCqYFdUlX
https://dl.doubtnut.com/l/_4MMAnwa1U5SX
https://dl.doubtnut.com/l/_vGuord2RPXLw
https://dl.doubtnut.com/l/_rvClLKp9fajb

, 1 N 1
1. Evaluate: (I) /m dx (II) /m dx

° Watch Video Solution

1
2. Evaluate: / dzx
22 —x — 1

o Watch Video Solution

3/ L
. x
x — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_rvClLKp9fajb
https://dl.doubtnut.com/l/_PyUfF0XZ98Oy
https://dl.doubtnut.com/l/_HKHjnxC8UBTy
https://dl.doubtnut.com/l/_yTSh1UB3K83x

2z — 3

4. Evaluate :/ dx
x?2 + 3z — 18

o Watch Video Solution

241
5. Evaluate: /m + dz
2 —1

° Watch Video Solution

6. _/(wz — az;v(mQ — bz)da:

° Watch Video Solution

7‘/(93 ") (z 1 1) dz

o Watch Video Solution



https://dl.doubtnut.com/l/_DBtSMuID3zfo
https://dl.doubtnut.com/l/_gTFDk1rzhIRv
https://dl.doubtnut.com/l/_jWy8cJLC1SL1
https://dl.doubtnut.com/l/_GRd1GPcQiejW

2z + 3
8'/(x+2)(x_z)d‘”

o Watch Video Solution

1
9/(3: —2)(z + 2)(z — 2) dz

o Watch Video Solution

1 / cos T da
"J (1 +sinz)(2 + sinz)

° Watch Video Solution

1 / dz
Jx(1+ log, z)(3 + log, x)

| o Watch Video Solution


https://dl.doubtnut.com/l/_GRd1GPcQiejW
https://dl.doubtnut.com/l/_LimJb0UzWMZk
https://dl.doubtnut.com/l/_JB1VvgjxLZiH
https://dl.doubtnut.com/l/_ZPMuZMYlw9hn
https://dl.doubtnut.com/l/_nXsueIvqRAA1

3
12, /w_+3dx

x3 — 3z

o Watch Video Solution

:132

13. Find
" _/(:132 + 1)(2? + 4)dz

o Watch Video Solution

2
14./ z dz
x6 + 23 — 2

° Watch Video Solution

X
15./ e’dz
e2r 4 4e® + 3

f


https://dl.doubtnut.com/l/_nXsueIvqRAA1
https://dl.doubtnut.com/l/_iDX85vuJzQnf
https://dl.doubtnut.com/l/_pzFwKXgMthd0
https://dl.doubtnut.com/l/_LyjKcloXl6ci
https://dl.doubtnut.com/l/_EjqRRpIR9uTg

o Watch Video Solution

332

16. Evaluate: /(:c D 2@ _3) dzx

o Watch Video Solution

1
17./ 5 dr
(r+1)" —4

o Watch Video Solution

CoS T
18. Evaluate: / dzx
cos 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_EjqRRpIR9uTg
https://dl.doubtnut.com/l/_AdB8mOctUA6F
https://dl.doubtnut.com/l/_jNMnKXUwCBip
https://dl.doubtnut.com/l/_WpUuYVcijbOB

1
19. / dzx
1+ 3e® + 2e2z

° Watch Video Solution

1
20. Evaluate: /
sinz(3 + 2cosz) dx

° Watch Video Solution

1
21. Evaluate: [———— dzx
/a: (zt +1)

o Watch Video Solution

1
22. Solve: (z)/—dzc

z(z + 1)

| e~


https://dl.doubtnut.com/l/_8dIXHZ6tou2r
https://dl.doubtnut.com/l/_dbinXgdYDUkS
https://dl.doubtnut.com/l/_gwlxDAYBmV37
https://dl.doubtnut.com/l/_NW5t7FgRWEuI

[ W Watch Video Solution

23./ z dz
2 +2x +1

° Watch Video Solution

sinx
24. / - dr =
sin(3x)

° Watch Video Solution

22
25. Evaluate: /—2da:
(a + bx)

° Watch Video Solution

r+1
26. Evaluate: / dx

z(1+ :fvem)2



https://dl.doubtnut.com/l/_NW5t7FgRWEuI
https://dl.doubtnut.com/l/_hNHautr3M10n
https://dl.doubtnut.com/l/_9lkWnr4Dmql6
https://dl.doubtnut.com/l/_9WRoVzo3YQTb
https://dl.doubtnut.com/l/_ln2AsPvyDlsc

o Watch Video Solution

1
27. Evaluate: / dz
14z + 22+ 23

o Watch Video Solution

1
dx

28.Eva|uate:/ T

° Watch Video Solution

1
29 /(x )

o Watch Video Solution



https://dl.doubtnut.com/l/_ln2AsPvyDlsc
https://dl.doubtnut.com/l/_jr9ulNOR7cCD
https://dl.doubtnut.com/l/_Q6QEEh9Fh9Hf
https://dl.doubtnut.com/l/_16R5WB5RAdgT

1—-cosz
30./ dx
cos (1 + cos x)

o Watch Video Solution

1
1. Evaluate: / dx
2 +2x +5

° Watch Video Solution

1
2. Bvaluate: / dzx
5+ 4z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_L0Xc404Rkp0R
https://dl.doubtnut.com/l/_hR2Wk9iEBATv
https://dl.doubtnut.com/l/_CkV8kpEt1vrx

1
3./ dx
2¢2 4+ 5 + 3

o Watch Video Solution

1
4./ dz
2¢2 +x + 1

o Watch Video Solution

dx
5.Evaluate [———

1—x — x2

o Watch Video Solution

1
6./ dzx
22 —4x + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_lLxRiVp3Ib19
https://dl.doubtnut.com/l/_GbXiOnxmayTg
https://dl.doubtnut.com/l/_nwskv9Waev1p
https://dl.doubtnut.com/l/_jow7cCDfWosD

7./ dz —3 dx
3r2+2x —5

o Watch Video Solution

r+1
8. Evaluate: dz
2 +4x +5

o Watch Video Solution

3 1
9./ Tt dx
222+ — 1

° Watch Video Solution

10./ e -1 4.
2c2 + 2z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_7CLkWRYhSb3L
https://dl.doubtnut.com/l/_EcVUK5YkJJF5
https://dl.doubtnut.com/l/_gIXDO7UcC2Mu
https://dl.doubtnut.com/l/_r5S54YqrpLnz

i

1. Evaluate:/ dx
i+ 22+ 1

o Watch Video Solution

1
12./ dx
Vaz? — ¢ + 4

o Watch Video Solution

1
13./ dx
V2 + z — 322

° Watch Video Solution

1
14./ dzx
V1+z — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_uMsCW4kvJpwm
https://dl.doubtnut.com/l/_qIdwUJMIgLoR
https://dl.doubtnut.com/l/_fWuI2i3m0CvU
https://dl.doubtnut.com/l/_XjiGQ8T18wXz

dx

1
15./
V2z2 + 3z — 2

° Watch Video Solution

dx

1
16./
Va2 + 3z +1

o Watch Video Solution

2 5
17. Evaluate: Tt dx

V2 +2z +5

o Watch Video Solution



https://dl.doubtnut.com/l/_XjiGQ8T18wXz
https://dl.doubtnut.com/l/_5fM9Yo5CjdLP
https://dl.doubtnut.com/l/_gUStJOO6fSSn
https://dl.doubtnut.com/l/_YajP2jE91a4G
https://dl.doubtnut.com/l/_nUE2kIGAnuHj

L vvallll vidco o0VIULiOIl

2 5
19 Tt dx

. Va2 + 3z + 1

o Watch Video Solution

20./ z dz
Vel 4+ z+1

° Watch Video Solution

21. /\/5 — 2z + z’dzx

o Watch Video Solution

22. /\/x2 + 4z + 1ldx

r


https://dl.doubtnut.com/l/_nUE2kIGAnuHj
https://dl.doubtnut.com/l/_f839grOJjhOa
https://dl.doubtnut.com/l/_vQ535euHRkDR
https://dl.doubtnut.com/l/_zRlW4GKyVsFG
https://dl.doubtnut.com/l/_147KJVy2ohTK

I ° Watch Video Solution

23.\/2ax — r’dx

o Watch Video Solution

24./(:c +2)v/2® + zdx

o Watch Video Solution

25. Evaluate: /(m —5)Vz* + zdx

o Watch Video Solution

26. Evaluate: /(4:13 +1)y2? —z — 2dz


https://dl.doubtnut.com/l/_147KJVy2ohTK
https://dl.doubtnut.com/l/_Vli1OYC0DK2u
https://dl.doubtnut.com/l/_fhl69KafDt8E
https://dl.doubtnut.com/l/_qenwY5i1WkRp
https://dl.doubtnut.com/l/_H0c3yBj77uLJ

o Watch Video Solution

27. Evaluate: /(233 — 5) V2 + 3z — 2’dz

o Watch Video Solution

1
1./ dzx
14 3cos2x

o Watch Video Solution

1
2./ Sdx
(2sinx + cos )

o Watch Video Solution



https://dl.doubtnut.com/l/_H0c3yBj77uLJ
https://dl.doubtnut.com/l/_50k1xQ8u3Q6N
https://dl.doubtnut.com/l/_cbPAo1iXcg01
https://dl.doubtnut.com/l/_5ZDqTxgZrPgT

1
3./ s dx
(asinz + bcos z)

o Watch Video Solution

1
y——
2+ sin“x

o Watch Video Solution

1
5./ 5 dx
3sin“x + 4cos?

o Watch Video Solution

1
6./ 5 dx
sin“z — 4cos?x

I o Watch Video Solution


https://dl.doubtnut.com/l/_K55rlyS01PNK
https://dl.doubtnut.com/l/_XSzml7IrWMuz
https://dl.doubtnut.com/l/_DS1He5tJyouQ
https://dl.doubtnut.com/l/_Z7020I7kC2HO

1
7./ 5 dx
cos?z — 3sin‘ z

° Watch Video Solution

1
8./ - dx
sinz cosx + 2cos? x

o Watch Video Solution

1
9./ . _ dx
(sinz — 2cosz)(2sinz + cosz)

° Watch Video Solution

1
10. —d
/5 + 2cos x v

| o


https://dl.doubtnut.com/l/_Z7020I7kC2HO
https://dl.doubtnut.com/l/_mCtlCcNXR7K6
https://dl.doubtnut.com/l/_DqXluJl8jeBd
https://dl.doubtnut.com/l/_ZYUBbK9pfCBN
https://dl.doubtnut.com/l/_bPZ1C9XPE1mp

| & Watch Video Solution

1
) e

o Watch Video Solution

1
12. Evaluate: d
vaiuate /13—|—3cosa: + 4sinzx T

° Watch Video Solution

1
13. d
/3—|—2sinw—|—cosa: v

o Watch Video Solution

dzx
14. Evaluate;: [———— dx
2+ cosx


https://dl.doubtnut.com/l/_bPZ1C9XPE1mp
https://dl.doubtnut.com/l/_br4WYwwiikn3
https://dl.doubtnut.com/l/_If0ZobgwH2aN
https://dl.doubtnut.com/l/_NFsjMhAHv7kH
https://dl.doubtnut.com/l/_TxkF342wuIzC

o Watch Video Solution

1
15, [—
/4—|—5cosmdw

o Watch Video Solution

1
[

° Watch Video Solution

17. Provethat :
/ZSinac + 3coszx 18x 1
3

= -_— _1 3 4
sinz + 4cos z x o5 + 5F og|3ssinx + 4cos z|c

o Watch Video Solution



https://dl.doubtnut.com/l/_TxkF342wuIzC
https://dl.doubtnut.com/l/_wbIZh8nlq4du
https://dl.doubtnut.com/l/_FgVdPcsKu1iJ
https://dl.doubtnut.com/l/_2yUzixe6vutD

Exercise 7m

z2 +1
1. dzx
,/:1:4—2:132+1

o Watch Video Solution

2
2. Evaluate:/1+w dx
14 x4

o Watch Video Solution

(z* - 1)
3. Evaluate:/ dx
et + a2+ 1

o Watch Video Solution

1
4, EvaIuate:/ dx
x4 —1


https://dl.doubtnut.com/l/_ulcqs94XiAZU
https://dl.doubtnut.com/l/_WFsnFvvGPihh
https://dl.doubtnut.com/l/_OaKPfLl6fn3A
https://dl.doubtnut.com/l/_dfwSD0OkM4Nq

o Watch Video Solution

5. /\/cot rdx

o Watch Video Solution

2414
6. Evaluate: /de
x4 + 16

o Watch Video Solution

7. Evaluate: /(\/tana: + y/cot z)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_dfwSD0OkM4Nq
https://dl.doubtnut.com/l/_wMP3qqh7fqfu
https://dl.doubtnut.com/l/_wCsaFLxzslLb
https://dl.doubtnut.com/l/_b3pf2LavXFmH

z2 +1
8. Evaluate:
et + a2+ 1

o Watch Video Solution

Exercise 7n

3
1

1./ —dz
. T

° Watch Video Solution

a
2. / yidy
0

o Watch Video Solution



https://dl.doubtnut.com/l/_eNEs8Ty4I6CI
https://dl.doubtnut.com/l/_jO3eiN6v5FMg
https://dl.doubtnut.com/l/_Rg0wCtzaMZoE

3. Evaluate the following :

w/4
/ tan x dx
0

o Watch Video Solution

w/2
4./ v/1 — sin2zdz is equal to :
0

° Watch Video Solution

5. / sin 3zdzx
0

o Watch Video Solution

w/2
6./ cos xdzx
w/6

[ §


https://dl.doubtnut.com/l/_1R3P5ioCctpx
https://dl.doubtnut.com/l/_Wdt2bUmSOiE0
https://dl.doubtnut.com/l/_RDkZGgnahAeA
https://dl.doubtnut.com/l/_xmfctQLSwX1m

l o Watch Video Solution

9
7.Find/ \/Eda:
4

o Watch Video Solution

1
1
8./ —dm
0 1 — 22

° Watch Video Solution

w/4
o, / cosec’zdzx
—7/4

o Watch Video Solution



https://dl.doubtnut.com/l/_xmfctQLSwX1m
https://dl.doubtnut.com/l/_HUaouLBFaYgN
https://dl.doubtnut.com/l/_0zYe8rHSKiv7
https://dl.doubtnut.com/l/_luYPdgbRSGte

w/2
10./ cos 3xdx
0

° Watch Video Solution

w/4
11./ sin® zdx
0

o Watch Video Solution

w/2
12./ /1 — cos2xdx
0

o Watch Video Solution

w/2
13./ v/1 — cos 2xdx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_79f7Ye7EwzS9
https://dl.doubtnut.com/l/_cGlKD8DNJads
https://dl.doubtnut.com/l/_6oENsREN6r0r
https://dl.doubtnut.com/l/_RqJIdBhFZg9K

w/2
14. / sin® zdx
0

o Watch Video Solution

1 1
15./ — dx
0o 2 +z+1

o Watch Video Solution

16/“ dx
0 Vaxr — z2

o Watch Video Solution



https://dl.doubtnut.com/l/_RqJIdBhFZg9K
https://dl.doubtnut.com/l/_7gEa1cB7amHy
https://dl.doubtnut.com/l/_abREGNNyJN1T
https://dl.doubtnut.com/l/_ceErFF6ebiNt

w/2
17. (z)/ x cos xdx
0

3
(i) / x.logxdx
1

o Watch Video Solution

w/2
18. (z)/ x sinx cos zdx
0

w/6
(44) / (2 + 3z%)cos 3zdz
0

° Watch Video Solution

2 2
19. EvaIuate:/ 1 dx (ii)/ ;dw
1 (z+1)(z+2) 1 z(1+ 2?)

° Watch Video Solution



https://dl.doubtnut.com/l/_Ntnq2aYRD632
https://dl.doubtnut.com/l/_gT41XYTOAF2R
https://dl.doubtnut.com/l/_q1KCMp8XGTIQ

2
20./ \/bx + 6dx
-1

o Watch Video Solution

w/2
21./ sin® zdz
0

o Watch Video Solution

w/6
22. / cos x cos 3xdx
0

o Watch Video Solution

w/4 dx
23. Evaluate/ —
0 1+ cos 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_0qtEfjuxSQQP
https://dl.doubtnut.com/l/_88JeJ2rH3Xl2
https://dl.doubtnut.com/l/_RpABaloBJiB2
https://dl.doubtnut.com/l/_ZsedQZKVGGpO

w/2
24./ (a cos® z + bsin? x)d:c
0

o Watch Video Solution

N E

25. Evaluate : / (tanx + cot w)2da:

™

3

o Watch Video Solution

1 1
26./ dz
0 1+$+2$2

o Watch Video Solution

2 1
27./ — —dx
0o 4+ x+ x2



https://dl.doubtnut.com/l/_ZsedQZKVGGpO
https://dl.doubtnut.com/l/_XkO7JjhUGPMC
https://dl.doubtnut.com/l/_9VriO0LwFVue
https://dl.doubtnut.com/l/_sc9Qv6GRYrcn
https://dl.doubtnut.com/l/_djByTDP62BjL

I o Watch Video Solution

21
28./ —dx
1 z(1+ )

o Watch Video Solution

2
3
29.Eva|uate:/ de
1 z(z + 2)

o Watch Video Solution

w/2
30. / z2 cos zdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_djByTDP62BjL
https://dl.doubtnut.com/l/_soeulfpYu8GN
https://dl.doubtnut.com/l/_6BbWW31F2XPR
https://dl.doubtnut.com/l/_AjINxyFvXZ2c

dx

ce’(1+ xzlo
31./ ( gx)
1 T

° Watch Video Solution

o (52

o Watch Video Solution

Exercise 70

3 cos(logz)

1. Evaluate the following integral: /
1 T

° Watch Video Solution



https://dl.doubtnut.com/l/_RqiKOxCHnNXD
https://dl.doubtnut.com/l/_Lx7H4kd0Hj9R
https://dl.doubtnut.com/l/_pz2paq7hvwqZ

C.2a

D.O

Answer: B

o Watch Video Solution

™ sinx

— 1))
2 1+cos?zx

3. Evaluate the integrals /0

° Watch Video Solution



https://dl.doubtnut.com/l/_xYNYNsQ1Ad12
https://dl.doubtnut.com/l/_dp28iHbc3FBl

w/2
4, / sin® z cos? zdzx
0

° Watch Video Solution

w/4
5. / cot z. cosec’zdx
0

o Watch Video Solution

6./7T/2 dx
0 4sin’z + 5cos?

o Watch Video Solution

1 dz
7. Evaluate S
o €*+e?*

o Watch Video Solution



https://dl.doubtnut.com/l/_bUoMVKjtrhQs
https://dl.doubtnut.com/l/_QIRe756xQQ4j
https://dl.doubtnut.com/l/_NyVDyX9yKYmj
https://dl.doubtnut.com/l/_qyBU8Xx9DYXQ

¢ dz
o[
1/e z(logx)

o Watch Video Solution

2
g,/ dz :
1 z(1+ logx)

° Watch Video Solution

/2 cosec x cot x
10. 5 dz
/6 1+ cosec “x

° Watch Video Solution

11. What is [In(x)/x"2 dx ?



https://dl.doubtnut.com/l/_qyBU8Xx9DYXQ
https://dl.doubtnut.com/l/_AmYnnKjx1DNp
https://dl.doubtnut.com/l/_iWJZwYy4Dfwe
https://dl.doubtnut.com/l/_F60ZvlFBeOL9
https://dl.doubtnut.com/l/_y6UqjAwCZQzM

[ o Watch Video Solution

o Watch Video Solution

2 _—1/z
13./ s
0 T

o Watch Video Solution

2
14./ T 4z
1 V14 222

° Watch Video Solution



https://dl.doubtnut.com/l/_y6UqjAwCZQzM
https://dl.doubtnut.com/l/_EjEfMCJwlPOZ
https://dl.doubtnut.com/l/_g1CuIKq1cAQo
https://dl.doubtnut.com/l/_gFLYKwATWAZv

2
15./ %dm
-1 (z2 4+ 1)

o Watch Video Solution

16. Find : / — dx
2

1—a:

o Watch Video Solution

m 1
17. ——d
/0 5+ 2cosz v

o Watch Video Solution

w/2
18./ e’(sinz + cos z)dx
0

I o Watch Video Solution


https://dl.doubtnut.com/l/_Vwdmyibxk9eo
https://dl.doubtnut.com/l/_P7diiilM2nRI
https://dl.doubtnut.com/l/_BWxk7OTOH1jz
https://dl.doubtnut.com/l/_IZtPK0HS0FMq

s
19./ z sin’ zdz
0

o Watch Video Solution

20. Evaluate :

1 2 1
. . 1 .. Inz 2 . 1
(i) [ sin™ " zdz , (ii) —2dw,(|||) r°sin T xdx.
T
0 1 0

o Watch Video Solution

o0 1
21. Evaluate: dzx-
/0 (22 + a?)(x? + b?)

o Watch Video Solution



https://dl.doubtnut.com/l/_IZtPK0HS0FMq
https://dl.doubtnut.com/l/_TgEzBQDSW8W2
https://dl.doubtnut.com/l/_HyfgD4JYWE2l
https://dl.doubtnut.com/l/_TT2qdnWeBbBY

1 1
22./ dz
0o x2+2x+3

o Watch Video Solution

w/2 1
23. ——F—d
/0 4+ 3cosz

o Watch Video Solution

w/4
24./ e’ (tanz + sec’ z)dz
0

o Watch Video Solution

2 1
2% | — 4
/1 21+ 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_4n3in3g9Hvf9
https://dl.doubtnut.com/l/_qUsKxqwzR64r
https://dl.doubtnut.com/l/_iMJT2yGQkUWJ
https://dl.doubtnut.com/l/_2pwJYyXO26eF

2
26./ ,/2+xda;
0 2_CU

o Watch Video Solution

w/2
27. / x sin x cos zdx
0

o Watch Video Solution

w/2
28. Evaluate / d—w
0 1+ cosz

° Watch Video Solution

1 2
29./ T -z dx
0 1+ 22


https://dl.doubtnut.com/l/_2pwJYyXO26eF
https://dl.doubtnut.com/l/_BNwvx6IwPXha
https://dl.doubtnut.com/l/_9EytNH3o8oB0
https://dl.doubtnut.com/l/_Jm7zi8W9kBIz
https://dl.doubtnut.com/l/_rIMO9ZhBtg4A

o Watch Video Solution

™
30. / x sin z cos® zdzx
0

o Watch Video Solution

/2 Jtanz

der = il
0 \/ta,anr\/cota: 4

1. Prove that :

o Watch Video Solution

w/2
2. Prove that:/ d—x = il
0 1+ cotz 4

o Watch Video Solution



https://dl.doubtnut.com/l/_rIMO9ZhBtg4A
https://dl.doubtnut.com/l/_cTx7ya95OqV6
https://dl.doubtnut.com/l/_Vn6iFYucT75F
https://dl.doubtnut.com/l/_Qoz9VPj01Yes

™/2 \/Cos

T
3. Prove that : dr = —
0 \/sinm—i—\/cos:c 4
° Watch Video Solution
w/2 -3 T
4, Prove that :/ I @ de = —
0 sin® z + cos3 z 4
° Watch Video Solution
/2 cos® T
5.Prove that : der = —
0 sin® z + cos® 4

o Watch Video Solution

|3

7l'/2 1
6. Prove that: / _ =
0 1+ tan® z

Vo


https://dl.doubtnut.com/l/_Qoz9VPj01Yes
https://dl.doubtnut.com/l/_OvEBENsBJk3T
https://dl.doubtnut.com/l/_SjyjjEhnD0lG
https://dl.doubtnut.com/l/_KcdtRlV1eext
https://dl.doubtnut.com/l/_1VC6YZI8NYp1

| ° Watch Video Solution

/2 sinz — cos T -
7. Prove that : - dx = 0" (ii) Prove that " :
0 1 + sinx cos

int_(0)"(pi//2) sin 2x. log (tan-x) dx=0"

o Watch Video Solution

T 7.‘.2
8. Prove that : / x cos’ zdx = T
0

o Watch Video Solution

9. Prove that :

a
2

/oa\/a?+\/jmdw

° Watch Video Solution



https://dl.doubtnut.com/l/_1VC6YZI8NYp1
https://dl.doubtnut.com/l/_0KKuJ4JJmN0Z
https://dl.doubtnut.com/l/_Eam4sCXodIZB
https://dl.doubtnut.com/l/_IsQwdvIYAewt
https://dl.doubtnut.com/l/_Hx1venLn1SeX

v
10. Prove that : / sin®z. cos zdx = 0
0

o Watch Video Solution

1. Prove that

w/2
/ (sinz — cos z)log(sin® z + cos® z)dz = 0
0

o Watch Video Solution

iy
12. Prove that : / sin®™ z. cos?™ 1 zdz = 0
0

° Watch Video Solution

Vi 5
T
VI—z+ 4z 2

7
13. Prove that : /
2

| o WMiabl .\t daa Al iktaa


https://dl.doubtnut.com/l/_Hx1venLn1SeX
https://dl.doubtnut.com/l/_FpqqBjjZLHe9
https://dl.doubtnut.com/l/_gHIgL2o9AVXj
https://dl.doubtnut.com/l/_0O5cBA2C9C32

L . vvalilll VIUCU JUIULIVII

37l'/4 1

14. Prove that :/ —  dx =2
/4 1+ cosx

o Watch Video Solution

3;7 .
15. Evaluate : —dzx
= 1+ sinx
4

o Watch Video Solution

T rsinc w2
16. Prove that : — dr = —
o 1+ cos?z 4

o Watch Video Solution



https://dl.doubtnut.com/l/_0O5cBA2C9C32
https://dl.doubtnut.com/l/_x852W03v5cFN
https://dl.doubtnut.com/l/_xLpOJY1W27Jc
https://dl.doubtnut.com/l/_MfdJlvtxj0bw

T s

log

w/2
17. Prove that : / - T = 0
0 sInx + cosx 4./2

ﬂ+1'
V2-1

° Watch Video Solution

@ dr T
18. Prove that : = —
0 x4+ Va2 — z2 4

° Watch Video Solution

sin® ™

19. Prove that / : - der = ——
o 1l-+sinzcosz 33

o Watch Video Solution

1
20. Evaluate : / (1- x)3/2dw
0

° Watch Video Solution



https://dl.doubtnut.com/l/_CmmTdEq8koed
https://dl.doubtnut.com/l/_P8701dSrIwmP
https://dl.doubtnut.com/l/_5HH6TDW8iT2W
https://dl.doubtnut.com/l/_zV6MmhJHdFD5

1 1
21. Evaluate :/ log(— — 1) dx
0 x

o Watch Video Solution

1
22. Evaluate:/ z(1—z)°de
0

° Watch Video Solution

4
23. Evaluate : / z(4 — a:)3/2da3
0

o Watch Video Solution



https://dl.doubtnut.com/l/_zV6MmhJHdFD5
https://dl.doubtnut.com/l/_dua8AKRHVroI
https://dl.doubtnut.com/l/_SEgkWW2ARbIJ
https://dl.doubtnut.com/l/_mqFZEUAvPlQZ

24. Prove that (z)/ 2 sin” zdx = 0
(zz)/ (sin®z +2™)dz = 0

(iii)/ el*lde = 2(e — 1)
/2
(zv)/ sin’ zdz = 0

—7/2

o Watch Video Solution

T rtan T
25. Evaluate : dzx
o secx +tanx

° Watch Video Solution

Wi 7'('2

26. Prove that :/ — dx =
0o 1+sin’z 24/2

o Watch Video Solution



https://dl.doubtnut.com/l/_A0VdHiz98Ska
https://dl.doubtnut.com/l/_TJDa7B4XsjEv
https://dl.doubtnut.com/l/_6ppWzleAO2IJ
https://dl.doubtnut.com/l/_Kmo4HCLrvVVc

T rsinz T
27. Prove that : e = 7r(
o l+sinz

o Watch Video Solution

w/2
28. Evaluate: / |sinz|dx
—m/2

o Watch Video Solution

8
29. Evaluate :/ |z — 5|dx
0

o Watch Video Solution

/4
30. Evaluate :/ sinz|dx
—7/4

o Watch Video Solution



https://dl.doubtnut.com/l/_Kmo4HCLrvVVc
https://dl.doubtnut.com/l/_92fb6kXrk0iy
https://dl.doubtnut.com/l/_336yva3UMww9
https://dl.doubtnut.com/l/_J8S7d1E7Ky4i

22 +12<2<3

3. If f(z) = {23: +11<z <2, then  evaluate

f(z)dz.

1

° Watch Video Solution

. Jx+4 0<z<2 3
32.if f(x) = b 9< g <3 , then evaluate/ f(z)dz.
<z < 0

o Watch Video Solution

33. Prove that | _logz d " og2
.Provethat: | ————dz = — —log
0 v1— z? 2

o Watch Video Solution



https://dl.doubtnut.com/l/_J8S7d1E7Ky4i
https://dl.doubtnut.com/l/_J5TbPwTcdVm0
https://dl.doubtnut.com/l/_BwRP3TahsAFZ
https://dl.doubtnut.com/l/_fUOt4T4A7eY4

w/2 T
34. Prove that :/ x. cot xdxr = 510g2
0

° Watch Video Solution

Lsin™ !z s
35. Prove that :/ ——dx = 510g2
0

Z

° Watch Video Solution

36. Prove that :/ 5 de = —
0 a2cos2x + b2sin” x 2ab

° Watch Video Solution

COsS

™
e
37. Evaluate:/
0 eCOSJI _|_ e-COS%

° Watch Video Solution



https://dl.doubtnut.com/l/_0E1yzDpSE4bW
https://dl.doubtnut.com/l/_zDTwXbI11eM2
https://dl.doubtnut.com/l/_CGlUmtydxDo5
https://dl.doubtnut.com/l/_MwLfgXwPX4Vb

™
rdx
38. Evaluate/ - Where 0 < a < .
o 1+ cosasinx

o Watch Video Solution

39.p tht/ool (+1) dz log. 2
. Prove at: (0] XI — . = 10

o Watch Video Solution

2 xsinx.cos<x
40. Evaluate : / dx
0

sinz 4 costz

o Watch Video Solution



https://dl.doubtnut.com/l/_MwLfgXwPX4Vb
https://dl.doubtnut.com/l/_drqY0mFty85A
https://dl.doubtnut.com/l/_vTbLNGzDNhvw
https://dl.doubtnut.com/l/_eyLJYskqvKLN
https://dl.doubtnut.com/l/_chEFFv4wAtCy

4
1. / xdx
2

° Watch Video Solution

3
2./ (w2 + 1)da:
0

o Watch Video Solution

4
3./ (2:132 + 1)dac
1

o Watch Video Solution

5
4./ (a:2 — 2x)dac
1

o Watch Video Solution



https://dl.doubtnut.com/l/_chEFFv4wAtCy
https://dl.doubtnut.com/l/_MkPohQfShqDp
https://dl.doubtnut.com/l/_BKnWKleQPF2s
https://dl.doubtnut.com/l/_b3W994rizVTZ

2
5. / edx
0

o Watch Video Solution

2
6./ e dx
-1

o Watch Video Solution

b
7. / sin zdx
a

o Watch Video Solution

b
8. / cos xdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_er1TtJ1Q9Zaw
https://dl.doubtnut.com/l/_06L7hHBNd936
https://dl.doubtnut.com/l/_7uWStElxIyNx
https://dl.doubtnut.com/l/_dHfoAAP48Yvq

Exercise 7r

1. Evaluate: (i) /1 — cos 2z dx (ii) /\/1 + sin2z dx

A.sinx — cosx + ¢

B.cosx — sinx + ¢

C.—sinx —cosx + ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dHfoAAP48Yvq
https://dl.doubtnut.com/l/_jmENkk56DMor
https://dl.doubtnut.com/l/_YulBzrNGS0k1

A dtanx + 4secx + ¢

B.3tanx + 4secx + ¢

C.4tanx + 3secx + ¢

D.3tanxz — 4secx + ¢

Answer: A

° Watch Video Solution

e? — 1
3. Evaluate:/ dx-
e2 +1

A. log(l + 6_2“’) +c
B.log(eg” — e_’”) +c

C. log(e‘” + e_‘”) +c


https://dl.doubtnut.com/l/_YulBzrNGS0k1
https://dl.doubtnut.com/l/_uNrZLZPlTfKP

Answer: D

° Watch Video Solution

dx _
4., 5 is equal to
sin” z cos? z

A.tanxz —cotx + ¢
B.secx + cosecx + ¢

C.secx — cosecx + ¢

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uNrZLZPlTfKP
https://dl.doubtnut.com/l/_Yo3TnIBypORS

sin x
5./—da: _ 9
v/ 1+ cosx
A.\/1+cosz + ¢
B.—2y/1+cosx + ¢
C.2y/1+cosz + ¢

D.2(1 4 cosz) + ¢

Answer: C

° Watch Video Solution

6. The value of ﬁ:an?’ 2z sec 2x dx is equal to:

1 1
A. Esec 2 + 5sec2x +c

B. Esec?’ 2r — Esec 2r + ¢


https://dl.doubtnut.com/l/_DN6IP7FPGDeh
https://dl.doubtnut.com/l/_NECMpycqnC77

1 4 1
C. Esec 2 + EsecQa: +c

Answer: C

° Watch Video Solution

7. Write a value of /e"” (sinx + cos x)dx

A.efcosx + ¢
B.—e¥sinx + ¢

C.—e®cosxz + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NECMpycqnC77
https://dl.doubtnut.com/l/_zy2SMJ5Zia1o

8. /cos(log z)dx is equal to
%(cos(logw) —sin(logz)) + ¢

z(cos(logz) + sin(logx)) + ¢

%(cos(logw) + sin(logx) + ¢

z(cos(logx) — sin(logz)) + ¢

A. —[sin(logz) + cos(logz)] + ¢

w|€~3

B. —[sin(logz) — cos(logz)] +

M|S

C. None of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zy2SMJ5Zia1o
https://dl.doubtnut.com/l/_v7t1SVA9uIE2
https://dl.doubtnut.com/l/_4v0ipcGBw4Fx

ta,n_1 x
9. Evaluate: |————dx
1+ z2

1 1 N2
A.g(tan z) +c
B. (tan_1 m)z +c

C. (taJn_1 w)3 +c

Answer: A

° Watch Video Solution

1

emtan‘ x
10. Evaluate /—dm
1+ 22

A %emtan_lx _|_ c

-1
B.emtan T T


https://dl.doubtnut.com/l/_4v0ipcGBw4Fx
https://dl.doubtnut.com/l/_tVrmCcbmnQ89

C. None of these

Answer: B

° Watch Video Solution

in(x — a)
11. Evaluate: /s— dx
sin(z + «)

A. x cos 2a + sin 2alog|sin(z + a)| + ¢
B. z cos 2a — sin 2alog|sin(z + a)| + ¢

C. None of the above

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_tVrmCcbmnQ89
https://dl.doubtnut.com/l/_RIJqZQbVUnDo

12. Evaluate the following integration

/sin?’ x cos® zdx

1 . 4 1 . 6
A.Zsm x—l—gsm T +c
1 1
B. Zcos4w — Ecos6 T+ c

C. none of the above

Answer: A

° Watch Video Solution

13. /Ldm — 7
1+ cosx


https://dl.doubtnut.com/l/_RIJqZQbVUnDo
https://dl.doubtnut.com/l/_QnbgtqRuLNWR
https://dl.doubtnut.com/l/_qeHUdwJQu8Ce

A mta,n( 2) + 210gcos(

) +e

B.xt ( )+21 (£>—|—
X tan 2 OgSln 2 C

|8

C. None of the above

Answer: A

° Watch Video Solution

14./1_ﬂdw — 9
1+ cosx
A2tan(2) +x+c

Btan( >+x+c

2

Ctan(2)+2a:+c

D. none of these


https://dl.doubtnut.com/l/_qeHUdwJQu8Ce
https://dl.doubtnut.com/l/_mOVSaRJbG9H3

Answer: A

° Watch Video Solution

2
15./ T gz =7
2 +4

Az + 4tan_1(%) +c
B.x — 2tan_1<%> +c

C. None of the above

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mOVSaRJbG9H3
https://dl.doubtnut.com/l/_LITsZzDJ8Ea1

2
16./ Xsin' zdz = ?
—2

A —2
B.4

C. None of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4LqNmjt3nil4
https://dl.doubtnut.com/l/_DJPOMkfpsIAl

C.0

D.1

Answer: C

° Watch Video Solution

8
18. Evaluate:/ |z — 5|dx
2

A9
B.10

CMNn

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_DJPOMkfpsIAl
https://dl.doubtnut.com/l/_e6lx9mheOO2B

1
19. EvaIuate:/ z(1l — z)"dzx
0

1

(n+1)(n+ 2)
1
n(n + 2)
C. !
(n+1)(n+ 3)

A.

B.

Answer: B

° Watch Video Solution

1
1 —
20. The value of the integral / ” dx is :
0 1 +x

™
A

— 41
2—|—


https://dl.doubtnut.com/l/_e6lx9mheOO2B
https://dl.doubtnut.com/l/_31IKkh6GzyJY
https://dl.doubtnut.com/l/_zbhVWiuyBF45

C. None of these

Answer: C

o Watch Video Solution

Y (R
0 V1+z?
AV2—-1
B. /2
C.—+/2


https://dl.doubtnut.com/l/_zbhVWiuyBF45
https://dl.doubtnut.com/l/_cHXDw0mxSjxi

Answer: B

° Watch Video Solution

w/2
22./ zsinz cosxzdr = ?
0

s
A.Z
s
B'§
s
C.ﬁ

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cHXDw0mxSjxi
https://dl.doubtnut.com/l/_aN3bpyUwMoc9

w/4
23. Evaluate / log(1 + tan6)dé
0

T

A
4

log 2

B. Zlog2
- glog

C. Zlog2
- glog

Answer: D

o Watch Video Solution

1
24./ |5 — 3|de = 7
0

° Watch Video Solution



https://dl.doubtnut.com/l/_2LtGY7PK69eh
https://dl.doubtnut.com/l/_3ORuJJ7OwOS1

5T 2<x<3

3
25. if f(z) = {3:1: +4,0<z <2, then/ f(z)de = 7
0

o Watch Video Solution

Exercise 7s

1
if /(sin2x — cos2z)dx = ——sin(2z — k) + ¢ then k=7

V2
A 5%
B |
B7r
"4
c T
T4
D.

Answer: B


https://dl.doubtnut.com/l/_uQdfx6Eydxlt
https://dl.doubtnut.com/l/_1487nLzxaHcJ

o Watch Video Solution

1
2. / de = 7
\V sin® z cos z

A —2/tanx + ¢
2
B. +c
tanx
-2
C. +c
tanx
D.
Answer: C

o Watch Video Solution

equals

3. The integral / dz

z?(z* + 1)3/4


https://dl.doubtnut.com/l/_1487nLzxaHcJ
https://dl.doubtnut.com/l/_itVRU0FOvkb9
https://dl.doubtnut.com/l/_xj61hTsgYkJX

A (1 —4—334)1/4 +c
B. (1 — :1:_4)1/4 +c

C.—(l + x_4)1/4 +c

Answer: D

° Watch Video Solution

4, ﬁl + 2tanz(tanx + secx)]l/zdm

A.log{cos ecx(secz + tanz)} + ¢
B. log{secz(secx + tanz)} + ¢

C. None of the above


https://dl.doubtnut.com/l/_xj61hTsgYkJX
https://dl.doubtnut.com/l/_W7ae4iJLYt8F

Answer: C

° Watch Video Solution

1
5. Evaluate: /— dz
z (z" + 1)

A. %log{w”(w" + 1))} +c

B.lo z" +c
g x" + 1

C. None of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_W7ae4iJLYt8F
https://dl.doubtnut.com/l/_zEZazWMIuk8f

6. ﬁog(a:2 +a*)dz = ?

A.aclog(ar:2 + a2) — 2z + 2atan” . % +c
B.aclog(w2 + a2) + 2z — 2atan !, z +c

a

C. None of the above

Answer: A

° Watch Video Solution

1— s
7,/ﬂdw: 2
1 —coszx

A. cot 33_210 sin x_|_
. .5 g E C

B. —cot. = — 2logsin. — +
. —cot. ogsin. - +¢


https://dl.doubtnut.com/l/_yeRkktUSQ3e7
https://dl.doubtnut.com/l/_5df94ESrbPtb

C. None of the above

Answer: C

° Watch Video Solution

z — 1)e”
8. Evaluate: —3dx
(x +1)

Answer: B

| ﬂlll s 1 wae* 1 o~ 1 e


https://dl.doubtnut.com/l/_5df94ESrbPtb
https://dl.doubtnut.com/l/_pEjHxCO3NYuZ

L ™ Vvald video o>01ution

2

9. Evaluate: /w—zdw
(a + bx)

—T 2 a
2 24
At TP [:c bog(a—i—bm)}—i—c
5, ——2 2[ “1(+b)}+
e T————————— — — | — —l1ogla X C
b(a + bx) b b o8

C. None of the above

Answer: B

° Watch Video Solution

2
10./4“’ trtl o
x3 —1

Alog(z — 1) —log(z® — 1) + ¢



https://dl.doubtnut.com/l/_pEjHxCO3NYuZ
https://dl.doubtnut.com/l/_uoPAJ2mvRa7S
https://dl.doubtnut.com/l/_NS2w8Zx9ec4y

B.log(z® — 1) + log(z — 1) + ¢

C. None of the above

Answer: C

o Watch Video Solution

2m T T
11. Evaluate : / e’ cos(— + —)d:c
) 172

A.O
B. -1

C. none of these

Answer: B


https://dl.doubtnut.com/l/_NS2w8Zx9ec4y
https://dl.doubtnut.com/l/_3ZYcy5DSapbf

° Watch Video Solution

D. None of these

Answer: A

o Watch Video Solution

w/4
13./ sinz(z) = 7
0

| o Watch Video Solution


https://dl.doubtnut.com/l/_3ZYcy5DSapbf
https://dl.doubtnut.com/l/_z8M30ObjxgXX
https://dl.doubtnut.com/l/_a3yiboOe8N9N

1
14. Evaluate : / cot_l(l —x + a:?)da:
0

A - +log2

— log 2

ol o3

C.—Z _1og2
—i—Og

Answer: C

° Watch Video Solution

15. Evaluate the

w/4
/ (vtanz + \/cot z)dz
0

following

integral:


https://dl.doubtnut.com/l/_a3yiboOe8N9N
https://dl.doubtnut.com/l/_qm1GReu9A4dQ
https://dl.doubtnut.com/l/_16p1CJPVU3Gt

Answer: A

° Watch Video Solution

16. Using properties of definite integrals, evaluate:

/2 sinx — cosx
dx
0

1+ sinx cosx

A0

B.1

C. None of the above


https://dl.doubtnut.com/l/_16p1CJPVU3Gt
https://dl.doubtnut.com/l/_iSQHSVCNfa3j

Answer: B

o Watch Video Solution

w/2 T
17./ 1/cosec (ac — —)dm =7
0 3

° Watch Video Solution

w/2 1
18. Evaluate: / 5 dx
0 (a2 cos? x + b2 sin® a:)

7r(a2 + bz)

AA——
4a3b3

7r(a2 + b2)
4a?b?

C. None of the above


https://dl.doubtnut.com/l/_iSQHSVCNfa3j
https://dl.doubtnut.com/l/_BdHGstBrwEYO
https://dl.doubtnut.com/l/_tqQfDEOmjO8c

Answer: B

o Watch Video Solution

w/2
19. Prove that: / log|tanz + cot z|dz = m(log) 2
0

A —mlog?2
B. mlog2

C. Zlog2
-5 log

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tqQfDEOmjO8c
https://dl.doubtnut.com/l/_bccUdc6FVFXL

1. /sin 2xdx

o Watch Video Solution

2. /:os 3xdzx

o Watch Video Solution

3. /ehdx

o Watch Video Solution

4, /(am + b)’dx



https://dl.doubtnut.com/l/_225WTGT4Vwk6
https://dl.doubtnut.com/l/_b6R3QhE6tsv5
https://dl.doubtnut.com/l/_uexEyMefWzhU
https://dl.doubtnut.com/l/_JPoG869C6Z2s

[ o Watch Video Solution

5. /(sin 2r — 4e3$)da:

o Watch Video Solution

6. /(463’” + 1) dz

o Watch Video Solution

) 1
7. |z 1——2 dz
T

o Watch Video Solution



https://dl.doubtnut.com/l/_JPoG869C6Z2s
https://dl.doubtnut.com/l/_bJh4926SyPov
https://dl.doubtnut.com/l/_ykJwCSh0gBY3
https://dl.doubtnut.com/l/_PCjCfzwbO3zg

8. /(aw2 + bx + c)da: =

o Watch Video Solution

o. /(2:1:2 + em)daz

o Watch Video Solution

2
1
10. Find the integral/(\/i — — | dz
\/_

o Watch Video Solution

3 2 _
1. Find the integral/w + 5? 4d:1:
x

o Watch Video Solution



https://dl.doubtnut.com/l/_Fg2N4v4gwMiY
https://dl.doubtnut.com/l/_fTVJUAhWkFif
https://dl.doubtnut.com/l/_WAJOyniSrf9F
https://dl.doubtnut.com/l/_q0w2dOgAxcxZ

12. Evaluate the following integrals.
23 + 32% + 4

NG

dx

° Watch Video Solution

3 2 -1
13. Find the integral/w d —|—1:r: dx
m J—

° Watch Video Solution

14.Find the integral/(l —z)\/zdx

o Watch Video Solution

15. Find the integral-/\/5(3alc2 + 2z + 3)dz


https://dl.doubtnut.com/l/_q0w2dOgAxcxZ
https://dl.doubtnut.com/l/_OeVr73zYXrGw
https://dl.doubtnut.com/l/_LNoTtTEUJHkB
https://dl.doubtnut.com/l/_dO2ztfibC7FN
https://dl.doubtnut.com/l/_hdhcAifES7yY

o Watch Video Solution

16. Find the integral/(2:c — 3cosz + €”)dx

o Watch Video Solution

17. Find the integral/(2:132 — 3sinx + 5\/5) dx

° Watch Video Solution

18. Find the integral/seca:(seca: + tanz)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_hdhcAifES7yY
https://dl.doubtnut.com/l/_SDBNEicyZ0nf
https://dl.doubtnut.com/l/_QUkxqTCuVPyn
https://dl.doubtnut.com/l/_IigTzZ4fQ1ur

SeC2 M

19. EvaIuate:/—2d:c
CoS ec*x

° Watch Video Solution

— 3sinx
20. —2da:
Ccos® x

° Watch Video Solution

Z

. " 1
21. The anti derivative of (\/E—l— T)equals(A)

Lot Lot o @) 2
— 73 2 —
3ac+ac+ ()3-’13

3 3 1
(D) —z2 + —z2> + C

w |

1 2

[\]
N| =

>
w o

-
| w Wl w|
8

8

8
+
N =
8
[\&]
+
)

o | o

_I_
N
S
_I_
@)

N
o | oo
8
N =
_|_
)

+
N =

2

3

3 1

24222 4+ C



https://dl.doubtnut.com/l/_U5Gh1Vf5wXyS
https://dl.doubtnut.com/l/_nUJNUYnpwprA
https://dl.doubtnut.com/l/_jMan7QYNv5YA

Answer: c

° Watch Video Solution

22, If if(ar:) — 42® — > such that f(2) = 0. Then f(x) is(A)
dz zt

m‘H—%—isg(B)w3+$—|—1—?(C)w4+m—2+%(D)

:133—|—i—E

x4 8
A.x3+i+1—29
x4 8
Bac4—|-i—1—29
x3 8
C.:c3+—+1—29
x4 8

D. None Of These

Answer: B

| 1


https://dl.doubtnut.com/l/_jMan7QYNv5YA
https://dl.doubtnut.com/l/_JoKlWyOGP94t

l o Watch Video Solution I

/ 2z
1.
1+ z2

o Watch Video Solution

1 2
5 (log )
xr

dzx

° Watch Video Solution

1
3.—
x + xlogx

o Watch Video Solution



https://dl.doubtnut.com/l/_JoKlWyOGP94t
https://dl.doubtnut.com/l/_pakcciFPEMUn
https://dl.doubtnut.com/l/_caB8u1P9QZxo
https://dl.doubtnut.com/l/_X4ssK5OpIB6p

4.sin z sin(cos )

o Watch Video Solution

5.sin(ax + b)cos(azx + b)

° Watch Video Solution

6.\/axr +b

° Watch Video Solution

7.2/ + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_W5b1Xp7kSs1b
https://dl.doubtnut.com/l/_b1FRW1VWQrRM
https://dl.doubtnut.com/l/_GyqkByQY1Upx
https://dl.doubtnut.com/l/_xKZEX4RmlD7m

8.2v/1+ 22>

o Watch Video Solution

9. Integrate the functions(4z + 2)v/z? + = + 1

o Watch Video Solution

10. Integrate the functions
T — /T

o Watch Video Solution

x
11. Integrate the functions———,z > 0

vV +4

° Watch Video Solution



https://dl.doubtnut.com/l/_BFM59XZoq7GZ
https://dl.doubtnut.com/l/_UJOtpTuwPsrI
https://dl.doubtnut.com/l/_wtOYTvHATkHl
https://dl.doubtnut.com/l/_zhpGqLHi4hw3

1
3 .0

12. Integrate the functions(ac3 — 1) x
° Watch Video Solution
72
13.Integrate the functions—3
(2 + 3z3)
o Watch Video Solution
, 1
14. Integrate the functions —,x >0
z(logx)
° Watch Video Solution
15. Integrate the functions
9 — 4z2

| o Watch Video Solution


https://dl.doubtnut.com/l/_zhpGqLHi4hw3
https://dl.doubtnut.com/l/_kMrB4W5Zqycm
https://dl.doubtnut.com/l/_pWrKP4eZPzr7
https://dl.doubtnut.com/l/_9Dbfet9Rp24L
https://dl.doubtnut.com/l/_yTzDQGPw7OW2

16- 62:1? +3

o Watch Video Solution

° Watch Video Solution

. etan * ( _ 1)$
18. Integrate the functions

1+ x2

o Watch Video Solution

2213_1

e2r +1

19. Integrate the functions



https://dl.doubtnut.com/l/_yTzDQGPw7OW2
https://dl.doubtnut.com/l/_7UaucnkkCUFf
https://dl.doubtnut.com/l/_A2W400eJaDha
https://dl.doubtnut.com/l/_oVgzeTGb5lp3
https://dl.doubtnut.com/l/_fs1JNoXX5yUw

| @ Watch Video Solution

62:1; 2z

— e_
20. Integrate the functions —
ez 4 e 2z

o Watch Video Solution

21. Integrate the functionstan®(2z — 3)

° Watch Video Solution

22. Evaluate: /sec2(7 — 4zx) dx

° Watch Video Solution

sin” " x

V1 — z?

23.


https://dl.doubtnut.com/l/_fs1JNoXX5yUw
https://dl.doubtnut.com/l/_T2m6J722fyp3
https://dl.doubtnut.com/l/_CHCbazsyZeWS
https://dl.doubtnut.com/l/_RoCwq8BaGbyT
https://dl.doubtnut.com/l/_LjlcG1zchjxa

o Watch Video Solution

2cosx — 3sinx

"6cosz + 4sinz

o Watch Video Solution

1

25. Integrate the functions 5
cos?z(1 — tanz)

o Watch Video Solution

cos \/x
NZ3

26. Integrate the functions

° Watch Video Solution



https://dl.doubtnut.com/l/_LjlcG1zchjxa
https://dl.doubtnut.com/l/_IWZ4WP3qFfZR
https://dl.doubtnut.com/l/_ynqAFGp1LwyA
https://dl.doubtnut.com/l/_9n7Oqx7jp4AF

27. \/sin 2x cos 2x

o Watch Video Solution

COs T

1+ sinx

28.

o Watch Video Solution

29. Integrate the functionscot x logsin «

o Watch Video Solution

sinx
30, ——
1+ coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_na6xpLcQ43qB
https://dl.doubtnut.com/l/_tibsEvo1rcyA
https://dl.doubtnut.com/l/_YtIa4zCfNshB
https://dl.doubtnut.com/l/_eIFCp05A0P5O

) sin x
31. Integrate the functions

(1+ cosz)?

° Watch Video Solution

1
32. Integrate the functions
+ cotx
o Watch Video Solution
33 —1
"1 —tanz
o Watch Video Solution
. tanx
34.Integrate the functions ——
sinx cos x

o Watch Video Solution



https://dl.doubtnut.com/l/_yeN9Rx3poCBR
https://dl.doubtnut.com/l/_sv2gx1f2tdxX
https://dl.doubtnut.com/l/_MIf8ataMRgnS
https://dl.doubtnut.com/l/_cKPHzkMFqixg

1+ 1o :1:2
35.( mg)

° Watch Video Solution

(14 z)(z + logz)*

36. Integrate the functions
x

o Watch Video Solution

x> sin(ta,n_1 a:4)

1+ 28

37.

o Watch Video Solution



https://dl.doubtnut.com/l/_cKPHzkMFqixg
https://dl.doubtnut.com/l/_gTNKWvzurtl4
https://dl.doubtnut.com/l/_eb6FzRj9qAfH
https://dl.doubtnut.com/l/_u2H7l9L0bPVg

18 /IOw9 + Ime(log)emdw
' z10 + 10°
10° 4+ z'° + C(0) (10° — 2'°) ' + C (D) log(10° + %) + C

equals(A) 10% — 2%+ C (B)

A10° — 20 + ¢
B.10° + z'° + ¢
1

C. (10"” — wlo) T +ec

D.log(10” + mlo) +c

Answer: D

° Watch Video Solution

dx )

39. 5 is equal to

: 2
sin” x cos® x

A.tanxz —cotx + ¢


https://dl.doubtnut.com/l/_6hHWfAO3aL7Y
https://dl.doubtnut.com/l/_epYZc4fkvrB1

B.tanxz cot x + ¢

C.tanxz —cot2x + ¢

Answer: b

° Watch Video Solution

1.Find the integrals of the functionssin®(2z + 5)

o Watch Video Solution

2. Integrate the functions sin 3z cos 4z



https://dl.doubtnut.com/l/_epYZc4fkvrB1
https://dl.doubtnut.com/l/_4SGKn3OEuDGo
https://dl.doubtnut.com/l/_2mmGh0STP2QB

| @ Watch Video Solution

3. Integrate the functions cos 2x cos 4z cos 6z

o Watch Video Solution

4.Find the integrals of the functions s €% (2z + 1)

° Watch Video Solution

5. Integrate the functionssin®  cos® x

° Watch Video Solution

6. sin x sin 2x sin 3x


https://dl.doubtnut.com/l/_2mmGh0STP2QB
https://dl.doubtnut.com/l/_hB3W6TNmOx0C
https://dl.doubtnut.com/l/_CNKckmWaS5Az
https://dl.doubtnut.com/l/_YLYQ38FzPdvS
https://dl.doubtnut.com/l/_04dG3HYEYURc

o Watch Video Solution

7.sin4x sin 8x

o Watch Video Solution

) 1 —cosz
8. Integrate the functions
+ cos x

° Watch Video Solution

9. /ﬂ da
1+ cosx

o Watch Video Solution



https://dl.doubtnut.com/l/_04dG3HYEYURc
https://dl.doubtnut.com/l/_k6O5MYOnOOtd
https://dl.doubtnut.com/l/_kVvLHs3idBik
https://dl.doubtnut.com/l/_Qg0VuvgKotvz

10. Integrate the functionssin? z

o Watch Video Solution

11. Integrate the functionscos? 2z

o Watch Video Solution

) sin® z
12. Integrate the functions ———
14 cosz

o Watch Video Solution

COSs 2 — Cos 2«
13. Evaluate: dz
COS I — COS (¢

° Watch Video Solution



https://dl.doubtnut.com/l/_mhfI2lLhZcSk
https://dl.doubtnut.com/l/_SVmDTOyuwAo4
https://dl.doubtnut.com/l/_zeyiqlfVHvT7
https://dl.doubtnut.com/l/_T9L7sij5pRNS

cosx — sinzx

14. Integrate the functions
& s N 2z

o Watch Video Solution

15. Integrate the functionstan® 2z sec 2z

° Watch Video Solution

16. Integrate the functionstan® z

° Watch Video Solution

3 3

sin” x + cos’ x

17. Integrate the functions 5

sin“ x cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_itxA1N7RY3zK
https://dl.doubtnut.com/l/_h4s8XsSMfUXC
https://dl.doubtnut.com/l/_4FaQGPaN5XoT
https://dl.doubtnut.com/l/_lPaAM84p12YN

. cos2x + 2sin’z
18. Integrate the functions +

cos?
o Watch Video Solution
) 1
19. Integrate the functions —
sin z cosd x
o Watch Video Solution
CoSs 2x

20. Integrate the functions >
(cosx + sinz)

o Watch Video Solution

21. Integrate the functionssin ! (cos z)

o Watch Video Solution



https://dl.doubtnut.com/l/_lPaAM84p12YN
https://dl.doubtnut.com/l/_oBX6GG581Ti4
https://dl.doubtnut.com/l/_pCoeyJlr7ZPy
https://dl.doubtnut.com/l/_Sj39fH0zx6XO
https://dl.doubtnut.com/l/_jJOtK9f5unAi

22. Evaluate

/cos(w — a)lcos(:c — b) da

o Watch Video Solution

1
23. Integrate the functions dx
cos(z — a)cos(x — b)

A.tanx + cosecx + ¢

B.—tanx + cotx + ¢

C.tanx +secx + ¢

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_jJOtK9f5unAi
https://dl.doubtnut.com/l/_N975qouNtjPb
https://dl.doubtnut.com/l/_izhy5sFumUlM

tan(xze®) + C (C) tan(e”) 4+ C (D) cot(e®) + C

A.tan(ze®) + ¢
B.tan(e”) + ¢

C.cot(e”) + ¢

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_izhy5sFumUlM
https://dl.doubtnut.com/l/_gJ6fNI1CDAeR

3x2
6 +1

1. Integrate :

° Watch Video Solution

1

V1 + 4x2

2. Integrate the functions

o Watch Video Solution

1
3. Evaluate: / 5 dx
(2—z)"+1

o Watch Video Solution

1
V9 — 2522

4.Integrate the functions

o Watch Video Solution



https://dl.doubtnut.com/l/_Yf2UxTo9LVhs
https://dl.doubtnut.com/l/_3qmKl4LtBLzn
https://dl.doubtnut.com/l/_rFEjygFeMP3S
https://dl.doubtnut.com/l/_3dPFlFsDKLpY

3z

5. Integrate the functions
1+ 2z*

o Watch Video Solution

6/ z’
I

° Watch Video Solution

rz—1

va?z —1

7.Integrate the functions

o Watch Video Solution

2
. T
8. Integrate the functions
Vb + ab

| nlll s 1 wae 1 o~ 1 e


https://dl.doubtnut.com/l/_3dPFlFsDKLpY
https://dl.doubtnut.com/l/_2r7P1s3XTtNp
https://dl.doubtnut.com/l/_asTBnQVM7Ncj
https://dl.doubtnut.com/l/_oN0FZ1NMx2e3
https://dl.doubtnut.com/l/_CgWyusyLvmyy

{ ' Vvaldn viaco >O1ution

sec2 i

Vitan?x + 4

9.Integrate the functions

° Watch Video Solution

1

10. Integrate the functions
Va2 + 2z + 2

o Watch Video Solution

1
922 + 6x + 5

11. Integrate the functions

° Watch Video Solution

1

12. Integrate the functions

VT — 6z — 22


https://dl.doubtnut.com/l/_CgWyusyLvmyy
https://dl.doubtnut.com/l/_SbSv58rovHXk
https://dl.doubtnut.com/l/_RuEnT9LdSyGy
https://dl.doubtnut.com/l/_qIFZIb8t4mzy
https://dl.doubtnut.com/l/_2axCGELF8GNC

o Watch Video Solution

1
13. Integrate the functions
V(e —1)(z —2)
o Watch Video Solution
, 1
14. Integrate the functions
V8 + 3z — z?
o Watch Video Solution
. 1
15. Integrate the functions
V(z —a)(z — b)

° Watch Video Solution



https://dl.doubtnut.com/l/_2axCGELF8GNC
https://dl.doubtnut.com/l/_doMJ92wmEgCy
https://dl.doubtnut.com/l/_EBK8d8NOWBkx
https://dl.doubtnut.com/l/_jkGpTq8T4Mbs

4 1
16. Integrate the functions Tt

V2r2 +x — 3

° Watch Video Solution

T+ 2

vz -1

17. Integrate the functions

o Watch Video Solution

br — 2

18. Integrate the functions
1+ 2z + 322

° Watch Video Solution

19.Eva|uate:/ : bz + 7 dx

Vi@ -5 —9)

° Watch Video Solution



https://dl.doubtnut.com/l/_BWP15R9kzlf2
https://dl.doubtnut.com/l/_KVtDJouvAHMR
https://dl.doubtnut.com/l/_30F4r0M5M2Em
https://dl.doubtnut.com/l/_dWuu0jmlKV8T

) T + 2
20. Integrate the functions

Vax — x2

o Watch Video Solution

T+ 2

21. Integrate the functions
V2 +2x + 3

° Watch Video Solution

z+3
x2 —2xr —5

22.Integrate the functions

o Watch Video Solution

5 3
23. Evaluate: s dx

V2 + 4z + 10

| o WMiabll. .\t daa el ikt


https://dl.doubtnut.com/l/_dWuu0jmlKV8T
https://dl.doubtnut.com/l/_HqIMZVPEdYYo
https://dl.doubtnut.com/l/_JiLOr0rqK9xY
https://dl.doubtnut.com/l/_qavX2ymjxctE
https://dl.doubtnut.com/l/_Dav0vbeHftO3

L ¥Yvdadlilll VIUCTUV JUVIULIVII

24+ 2¢ +2

d
24. / 2 equals(A) wtan_l(w +1)+C (B)
x

tan_l(a: +1) +C0©Q) (z + 1)tan_1 z+C@D)tan 'z + C

Atan 'z +1) +C
B.(z + 1)tan 'z + C

C.tan 'z + C

Answer: b

° Watch Video Solution

dx 1,
25. ———equals(A) —sin

V9 — 422 9

1, /8 —9 1
Esm ( >—|—C(C) §SIH

9

1 9z —8
( S >+C (B)

19z —8
8

>+C (D)


https://dl.doubtnut.com/l/_Dav0vbeHftO3
https://dl.doubtnut.com/l/_xgC26CZmSLIw
https://dl.doubtnut.com/l/_jQRW8WUk9qXr

1, /8 -9
A.Esm ( 5 )—i—C’
1 9 — 8
B gsin_l( x8 )—i—C
1. /92 -8
C.Esm ( 5 )—l—C
D.
Answer: b

o Watch Video Solution

1. Integrate the rational functions
(z +1)(z + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_jQRW8WUk9qXr
https://dl.doubtnut.com/l/_8fMHHd2bZkS6

1
2./ dzx
2 —9

o Watch Video Solution

3z —1
3‘/(@- P Y

° Watch Video Solution

4'/(33 TNz —2)@ 3"

° Watch Video Solution

2x + 3
5. Evaluate:
x2 + 3z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_x6eac9sA6gLG
https://dl.doubtnut.com/l/_Bs0vjwvgZKqt
https://dl.doubtnut.com/l/_etGTx3xVLXqu
https://dl.doubtnut.com/l/_mOENlabqbt5X

1— x2

6.Integrate —M —
8 z(1l — 2z)

o Watch Video Solution

Z

7. Integrate the rational functions
8 (22 + D)(z — 1)

o Watch Video Solution

8. Evaluate:/ 323 dz.
(z —1)"(z +2)

° Watch Video Solution

3 5
9. Evaluate: / Gl dz
x3—x2—x+1

| o Watch Video Solution


https://dl.doubtnut.com/l/_mOENlabqbt5X
https://dl.doubtnut.com/l/_EqIWeI2JHViY
https://dl.doubtnut.com/l/_lJi5sR1lwZbw
https://dl.doubtnut.com/l/_eA1c2eNgBoPx
https://dl.doubtnut.com/l/_iP1onkWYDlUN

2z — 3
10. Evaluate: / dzx
(2 —1)(2z + 3)

o Watch Video Solution

, . x
11. Integrate the rational functions

(z+1)(z + 2)

o Watch Video Solution

3 1
12. Evaluate: /ﬂ
2 —1

o Watch Video Solution

13.

(1—2)(1+ z?)



https://dl.doubtnut.com/l/_iP1onkWYDlUN
https://dl.doubtnut.com/l/_MtRW1EJOtk2e
https://dl.doubtnut.com/l/_0crdzkLBp2lV
https://dl.doubtnut.com/l/_pZd6Voc9u1Xr
https://dl.doubtnut.com/l/_GkumNQcIXZmG

o Watch Video Solution

3z — 1
14. Evaluate —zdw
(z —2)

o Watch Video Solution

15. Integrate the rational functions

x4 —1

° Watch Video Solution

1
16. Integrate the rational functions————[Hint: multiply
z(z" + 1)

numerator and denominator by " ~'and put 2" = ¢]

o Watch Video Solution



https://dl.doubtnut.com/l/_GkumNQcIXZmG
https://dl.doubtnut.com/l/_URUj7viV1thC
https://dl.doubtnut.com/l/_24li5JMYoaMZ
https://dl.doubtnut.com/l/_snqxIhOCW3c7

17. Integrate the rational functions

[Hint:Puts e = = t]

CoOsS T

(1 —sinz)(2 — sinx)

° Watch Video Solution

24+ 1) (22 +4
18. Evaluate: /(m il )(a: il )dw

(22 + 3)(z2 — 5)

° Watch Video Solution

2
19. Evaluate: d
vauae/(w2+1)(x2+3) T

° Watch Video Solution

1
20. Evaluate: /— dz
z (x4 —1)

| -



https://dl.doubtnut.com/l/_Un42LDSyMnQA
https://dl.doubtnut.com/l/_XDAaRPs0q3NL
https://dl.doubtnut.com/l/_sedo9lMKRYcx
https://dl.doubtnut.com/l/_xjItSqFtFY0q

| &J Watch Video Solution

1

21, ——
(e — 1)

o Watch Video Solution

xdr
22./ equals
(z —1)(z —2)
Al (e~ 2" C
g +
z—1\>
B.log( ) +C
x — 2
z—1)2
C.log(m+2) +C

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xjItSqFtFY0q
https://dl.doubtnut.com/l/_tqn4gQ9YoMsL
https://dl.doubtnut.com/l/_kkcpRqZh8WGi

dx
23. [——— equals
/:13(332 +1) 1

1 2
A log|z| + Elog(a‘: +1)+C
! 2
B. —log|z| + §log(x +1) +C
1 2
C. Elog|w| +log(z® +1) + ¢

D.

Answer: A

o Watch Video Solution

l.zsinx



https://dl.doubtnut.com/l/_kkcpRqZh8WGi
https://dl.doubtnut.com/l/_n98VPc2jlGgM
https://dl.doubtnut.com/l/_OAQvub1gkf5u

l @ Watch Video Solution

2. Evaluate fc sin 3zdzx.

o Watch Video Solution

3.22%e”

o Watch Video Solution

4.z logx

° Watch Video Solution

5.2 log 2z


https://dl.doubtnut.com/l/_OAQvub1gkf5u
https://dl.doubtnut.com/l/_5v9BRwdhQj0E
https://dl.doubtnut.com/l/_5DGQ3uLeKbuR
https://dl.doubtnut.com/l/_4Kv3WXDl45V2
https://dl.doubtnut.com/l/_VY15EDElW7ir

o Watch Video Solution

6. 2% logx

o Watch Video Solution

7. ﬁc sin ~'zdx

° Watch Video Solution

8.xtan 'z

o Watch Video Solution



https://dl.doubtnut.com/l/_VY15EDElW7ir
https://dl.doubtnut.com/l/_BJLwpv6ZRB8J
https://dl.doubtnut.com/l/_5QEGQom8Z18N
https://dl.doubtnut.com/l/_13XqU4cokJ4a

9. [x cos™(-1)x’

o Watch Video Solution

10. Evaluate: /(sin_1 a:)2 dzx

o Watch Video Solution

xcos 1z
11. Evaluate: /— dzx

V1— g2

o Watch Video Solution

12. Integrate the functionsz sec?

o Watch Video Solution



https://dl.doubtnut.com/l/_kWckoxWjMlNJ
https://dl.doubtnut.com/l/_Fi94nY3SUGS2
https://dl.doubtnut.com/l/_Boz3g1ylnfEV
https://dl.doubtnut.com/l/_Kay8AieNyoOV

13. Evaluate /can_l zdx

o Watch Video Solution

14. Evaluate the following Integrals.

fp(logmfdm

o Watch Video Solution

15. Evaluate: /(:1:2 + 1)log x dx

o Watch Video Solution

16. Write a value of /39” (sinz + cosz)dx

f


https://dl.doubtnut.com/l/_Kay8AieNyoOV
https://dl.doubtnut.com/l/_5dfp7DIJgdle
https://dl.doubtnut.com/l/_aF1qjcDjkMPo
https://dl.doubtnut.com/l/_wLIWdNNJECXj
https://dl.doubtnut.com/l/_mwAhYU3IljIw

l o Watch Video Solution

X

17. Evaluate: /e—2d:c
(z+1)

o Watch Video Solution

1 )
18. Evaluate: /ew (ﬂ) dx
1+ cosx

° Watch Video Solution

1 1
19. Integrate the functionse” <— — —2)
T X

° Watch Video Solution



https://dl.doubtnut.com/l/_mwAhYU3IljIw
https://dl.doubtnut.com/l/_sHz2zWCxfEaR
https://dl.doubtnut.com/l/_ADFOBGAYjSWx
https://dl.doubtnut.com/l/_kem3flZeaVqT

z — 1)e”
20. Evaluate: —gdw
(zr+1)

° Watch Video Solution

21. Integrate the functionse®” sin

° Watch Video Solution

2
22. Evaluate the integrals ﬁ)l sin ! < ’ >dw
1+ 2

o Watch Video Solution

23. Choose the correct answer ﬁzzew " 3dx equals (A)

1 1 1
§e"“3+0 (B) ge”“2+0 (C) 5e““3+0 (D)


https://dl.doubtnut.com/l/_fa0rofylU07X
https://dl.doubtnut.com/l/_opuJRe7E7ouL
https://dl.doubtnut.com/l/_Tckjf8WV57I2
https://dl.doubtnut.com/l/_OJFlStNmbkOK

C.—e* +C
D.
Answer: a

° Watch Video Solution

24. Evaluate: ﬁe‘” secz (1 + tanz) dz

A e*secx +C
B.esinxz + C

C.eftanxz + C


https://dl.doubtnut.com/l/_OJFlStNmbkOK
https://dl.doubtnut.com/l/_3O4VSJTxk4ke

Answer: b

o Watch Video Solution

1. Integrate the functions/4 — z°

° Watch Video Solution

2. Integrate the functions/1 — 4a:?

o Watch Video Solution



https://dl.doubtnut.com/l/_3O4VSJTxk4ke
https://dl.doubtnut.com/l/_bUhvo2Oy0jBn
https://dl.doubtnut.com/l/_3WTdxroZYfjo
https://dl.doubtnut.com/l/_xnagGGDmzboq

3. Integrate the functions\/w2 + 4z 4+ 6

° Watch Video Solution

4.Integrate the functionS\/ac2 +4z 46

o Watch Video Solution

5.Integrate the functions\/l — 4z — 2*

o Watch Video Solution

6. Integrate the functions\/az2 + 4 —5

o Watch Video Solution



https://dl.doubtnut.com/l/_xnagGGDmzboq
https://dl.doubtnut.com/l/_W0TAs1y2OkFg
https://dl.doubtnut.com/l/_Jb9fzm0rfH7A
https://dl.doubtnut.com/l/_AAM5X3wmlwWf
https://dl.doubtnut.com/l/_2eap0YrKGSHm

7. Evaluate: /\/1 + 3z — z’dx

o Watch Video Solution

8. Integrate the functions/z? + 3z

° Watch Video Solution

2
9.Integrate the functions’ /14 %

° Watch Video Solution

10. Choose the correct answer /\/a + z%dzx is equal to (A)
T

5 1+m2+%1og|(x+¢m)‘+c (B)


https://dl.doubtnut.com/l/_2eap0YrKGSHm
https://dl.doubtnut.com/l/_uVv5teFYVQU0
https://dl.doubtnut.com/l/_ELffCIQDUf0v
https://dl.doubtnut.com/l/_VgnCcrreWx7i

2 3

%x(l + 51:2)% +C (D)
z?

x 10g)x+\/1+x ’4—0

(1+x2)%+0

Wl w|N

x(1+x2)% + C

C.—\/l—i—a: xlog‘x—i—\/l—i—x)—l—C

Answer: A

° Watch Video Solution

1. Choose the correct answer /\/x2—8x+7dx (A)
1

E(a:—4)\/a:2—8w—i—7—|—910g‘w—4—|— \/w2—8m—|—7)—|—0
(B)

—(m+4)\/m2—8m+7+910g‘w—|—4—|—\/x2—8m—i—7)—i—C


https://dl.doubtnut.com/l/_VgnCcrreWx7i
https://dl.doubtnut.com/l/_D2LKrRDY4Fjh

(€)

1
5(w—4)\/w2—8x+7—3\/§10g‘w—4+ Va? -8z +7 4+ C

(D) "1/2(x-4)sqrt(x"2-8x+7)-

1
A.E(:v+4)\/a:2 — 8 + 7

+910g\x+4+\/x2—8x+7\ +C

(x —4)\/2? — 8z + 7

N | =

B.

~3v3log |z — 4+ /2’ 8z + 7| +C

1
CE(:L' — )z -8z + 7

9
—Elog\x—4+\/x2—8x+7\ +C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_D2LKrRDY4Fjh

b
1. / zdxr

° Watch Video Solution

2. Evaluate the following definite integrals as limit of sums.

/05(:1:+1)dac

o Watch Video Solution

3
3./ rldz
2

° Watch Video Solution



https://dl.doubtnut.com/l/_G55FEYiSQ6XO
https://dl.doubtnut.com/l/_s5oydoCtrlI2
https://dl.doubtnut.com/l/_Zzn0EzJnL40I

4. Evaluate the following integrals as Ilimit of sum:

/14 (:c2 — a:)dx

o Watch Video Solution

1
5. Evaluate:/ edx .
~1

o Watch Video Solution

6. Evaluate the following definite integrals as limit of sums.

/04(w + 62"”) dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_zdkmZXNwyzLX
https://dl.doubtnut.com/l/_TYjeeMykDKTG
https://dl.doubtnut.com/l/_Wng4iyQ0XZjK

o Watch Video Solution

31
2. Evaluate:/ —dx
5 X

o Watch Video Solution

3. Evaluate the definite integrals /12(4:53 — 5z + 62 + 9) dx

° Watch Video Solution

™

4./4sin2azda:
0

o Watch Video Solution



https://dl.doubtnut.com/l/_y6OzW9K6bgBK
https://dl.doubtnut.com/l/_ylswnOIfqYrk
https://dl.doubtnut.com/l/_uhDcZTOU21kP
https://dl.doubtnut.com/l/_Jc2wH10aKj1K

™

5. / ’ cos 2xdx
0

° Watch Video Solution

5
6. Evaluate the definite integrals/ e’dx
4

° Watch Video Solution

7. Evaluate the definite integrals ﬁ)%tan xdx

o Watch Video Solution

™
8. Evaluate the definite integrals /E 708 ecxdx

| a wAr_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_Jc2wH10aKj1K
https://dl.doubtnut.com/l/_VFU8MOQ7Cp4v
https://dl.doubtnut.com/l/_7rzlMh9miA2n
https://dl.doubtnut.com/l/_Z2VPADIlaLXo
https://dl.doubtnut.com/l/_d0IS0JaelE07

L T Vvvallll vidcCo o0VIuliol

dx
V1 — z?

9. Evaluate the definite integrals ﬁ)l

° Watch Video Solution

1
1
10. Evaluate :/ dx
0 1+ x?

o Watch Video Solution

dzx

x?2 —1

11. Evaluate the definite integrals /23

o Watch Video Solution

/4
12. / cos? zdzx
0


https://dl.doubtnut.com/l/_d0IS0JaelE07
https://dl.doubtnut.com/l/_UZgG4DeJd5NZ
https://dl.doubtnut.com/l/_0Wof0Q76bYTu
https://dl.doubtnut.com/l/_TulgiUVixUk2
https://dl.doubtnut.com/l/_5IP766Xhc1Qh

o Watch Video Solution

/3 zdxr
13.
2 x2 +1

o Watch Video Solution

1
2
14. EvaIuate/ x—+3dw
0 5x? +1

o Watch Video Solution

1
15./ ze dx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_5IP766Xhc1Qh
https://dl.doubtnut.com/l/_LkxRxvyGnPzL
https://dl.doubtnut.com/l/_gB4AJkCeXcAN
https://dl.doubtnut.com/l/_YkvEi6cUqgqp

2 5x2
16. Evaluate :/ dx
1 x2 44z +3

o Watch Video Solution

17. Evaluate the definite integrals ﬁ)% (2 sec’z + x° + 2) dx

o Watch Video Solution

18. Evaluate the definite integrals
(s (5) ~e(3))
/0 (sm (2 cos”| 5 dx

° Watch Video Solution

2
6 3
19. Evaluate the definite integrals / T dx

0 CU2+4

| S |


https://dl.doubtnut.com/l/_RNuS8fWwXrUP
https://dl.doubtnut.com/l/_sqouEhOpK1SL
https://dl.doubtnut.com/l/_we6QpND0Gc2E
https://dl.doubtnut.com/l/_FZRVcqpZer0O

[ W Watch Video Solution ]

20./01 (a:e”” + sin(w%))dw

o Watch Video Solution

dx
14 22

7y
21. Choose the correct answer /l\/g equals (A) 3 (B)

2T ™ ™
3 Q) G (D) kD)

® >
sla 2l ey

n

Answer: d



https://dl.doubtnut.com/l/_FZRVcqpZer0O
https://dl.doubtnut.com/l/_RepuGwzVZg01
https://dl.doubtnut.com/l/_XF9hn7XCDuSq

| W vvatcnh viaeo solution |

Eda:

22. Choose the correct answer /) 3 m i D

T T

Answer: ¢

° Watch Video Solution

Exercise 7.10



https://dl.doubtnut.com/l/_XF9hn7XCDuSq
https://dl.doubtnut.com/l/_rHf7hwm27m05

1
1./ v dzx
0 x? +1

o Watch Video Solution

m
. : 5
2. Evaluate the integrals ﬁ)g, /sin ¢ cos” pdp

° Watch Video Solution

2
3. Evaluate the integrals ﬁ)l sin ™! ( ’ )dm
1+ z2

o Watch Video Solution

2
4./ z/z + 2dz (put x+2 =t%)
0

o Watch Video Solution



https://dl.doubtnut.com/l/_qDswgcl7uWk6
https://dl.doubtnut.com/l/_zHgx0VFReyvK
https://dl.doubtnut.com/l/_oZoPbnzcesVu
https://dl.doubtnut.com/l/_U4RGiFJNpWBx

3 sinx
5, / ST
o 14 cos?zx

o Watch Video Solution

dx

6. Evaluate the integrals /02—
z +4— x?

o Watch Video Solution

1
1
7. Evaluate the integrals / dx
1 z2 42 +5

o Watch Video Solution



https://dl.doubtnut.com/l/_U4RGiFJNpWBx
https://dl.doubtnut.com/l/_dIIyTxEdZqq2
https://dl.doubtnut.com/l/_PghmC1pBSMWQ
https://dl.doubtnut.com/l/_NzVWtMydYrqw

8. Evaluate the following definite integral:
2
1 1

/ e <— — —)da:

1 T 212

° Watch Video Solution

1 (w — :133)1/3
9. Evaluate the following integral: / 1 dr
1/3 T

A.O

B.3

C.4

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_xMgxJ9WAq3Yf
https://dl.doubtnut.com/l/_P1aAZqPtAy5Z

10. If f(x) :/ t sint dt tehn f(x)is
0

A. X sin x
B. x cos x

C. sin X+x cos X

Answer: b

° Watch Video Solution

Exercise 7.11

NIE

1./ cos’ zdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_AFjcTLQVRJFz
https://dl.doubtnut.com/l/_bW1j5CxRztoc

vsinzx

2. dx
0 +/sinz + /cosz

[SE

o Watch Video Solution

3./71'/2 sind/2 7 N
0 sin®/2 2 + cos3/2

o Watch Video Solution

z 5
4 /2 cos® zdzx
0o sin’z + cosbzx

o Watch Video Solution

5
5./ |z + 2|dz
-5


https://dl.doubtnut.com/l/_bW1j5CxRztoc
https://dl.doubtnut.com/l/_Ld87GNDZvbHu
https://dl.doubtnut.com/l/_j4oFqBuVEPdI
https://dl.doubtnut.com/l/_xi1rzjnu7NDs
https://dl.doubtnut.com/l/_Pz2SGLOkQKdA

o Watch Video Solution

8
6./ |z — 5|dx
2

o Watch Video Solution

1
7.Find the value of/ z(l — z)"dz.
0

o Watch Video Solution

8. Evaluate : /4 log(1 + tanz)dz-
0

o Watch Video Solution



https://dl.doubtnut.com/l/_Pz2SGLOkQKdA
https://dl.doubtnut.com/l/_MaotAmSKlP0b
https://dl.doubtnut.com/l/_VFz0wlye0RQA
https://dl.doubtnut.com/l/_FlYLcbtLy8Yo

2
9./ /2 — xdx
0

o Watch Video Solution

w/2
10. Evaluate: / (2logsinz — logsin2z)dx
0

° Watch Video Solution

ol

1. Evaluate:/ sin® zdx

m
2

° Watch Video Solution



https://dl.doubtnut.com/l/_M8ci2UAuBpME
https://dl.doubtnut.com/l/_pEAaHf7lryJP
https://dl.doubtnut.com/l/_tzLhF1RZPZPe
https://dl.doubtnut.com/l/_AOfm4aGRS0tS

I ™ Vvald video >01ution )|

™

2
13./sin7wdac

SE

o Watch Video Solution

27
14. Evaluate: / cos’ z dx
0

o Watch Video Solution

15. By using the properties of definite integrals, evaluate the

) T sinx — cosx
integrals [0— - dx
2 1+ sinxcosx

° Watch Video Solution



https://dl.doubtnut.com/l/_AOfm4aGRS0tS
https://dl.doubtnut.com/l/_vZ0EyqbABO4e
https://dl.doubtnut.com/l/_sloDJNUeozoQ
https://dl.doubtnut.com/l/_sYbZQmlF9PGh
https://dl.doubtnut.com/l/_2ANWWqYsyV4N

™
16. Evaluate: / log(1 + cos x)dx
0

° Watch Video Solution

17. By using the properties of definite integrals, evaluate the

integrals [Oa dx
\/E -+ va — &

° Watch Video Solution

4
18./ |z — 1|dz
0

o Watch Video Solution

19. Show that ﬁ)af(:c)g(a:)dx = Zﬁ)af(w)dx if f and g

defined as flz) = fla—2x) and


https://dl.doubtnut.com/l/_2ANWWqYsyV4N
https://dl.doubtnut.com/l/_oKvYJYmI0Kr3
https://dl.doubtnut.com/l/_2I9SWKwZrRZw
https://dl.doubtnut.com/l/_FzDgnbe3dFvX

g(z) +gla—z)= 4

° Watch Video Solution

20. Choose the correct answer The Value of
— T T 3 5 .
TE( + x cosx + tan® x + 1)da: is(A)O(B)2(C)p (D)1
A 2

B. PI

C.1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FzDgnbe3dFvX
https://dl.doubtnut.com/l/_Vuc5uUyxIcV8

21. Evaluate/2 log(w)dw
0 4+ 3cosx

A 3
4
B.O

C.—2

Answer: C

° Watch Video Solution

Miscellaneous Exercise

1. Integrate the functions

x — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_lFAyhUweatrK
https://dl.doubtnut.com/l/_TKT5ik3egDgu

1
2. Evaluate: / dx
Vr+a++/z+b

o Watch Video Solution

1
3. Hint : Putx = %]

xVar — x2

o Watch Video Solution

4. about to only mathematics

° Watch Video Solution

1
5. Evaluate: / dz
21/2 4 21/3

| o


https://dl.doubtnut.com/l/_TKT5ik3egDgu
https://dl.doubtnut.com/l/_PAWUmucBbUDV
https://dl.doubtnut.com/l/_kqx8XLJdANwY
https://dl.doubtnut.com/l/_YKyy6PADyxBg
https://dl.doubtnut.com/l/_SeJLaQV47Woj

| ¥ Watch Video Solution

15%5

6. Integrate the functions
(z + 1)(x2 +9)

o Watch Video Solution

7. /SlLdm = Az + Blog(sin(z — «)) + C then find
sin(z — )

out (A, B)

o Watch Video Solution

5logz 4logx
e — €
8 / dx

) edlogz _ o2logz

o Watch Video Solution



https://dl.doubtnut.com/l/_SeJLaQV47Woj
https://dl.doubtnut.com/l/_O9cawGey2Qad
https://dl.doubtnut.com/l/_MWeKyxan80ik
https://dl.doubtnut.com/l/_sj5yGKGfKjwH

COS T

4 —sin’z

o Watch Video Solution

sin®z — cos® =z .
10.1 = / — dx is equal to:
1 — 2sij2x cos? x

o Watch Video Solution

1
11. Integrate the functions dx

cos(z — a)cos(xz — b)

o Watch Video Solution

$3

V1— a8

12.

o Watch Video Solution



https://dl.doubtnut.com/l/_4QnlJYQRzVKs
https://dl.doubtnut.com/l/_IcAUqbGC05X9
https://dl.doubtnut.com/l/_DpmvFw08hFlg
https://dl.doubtnut.com/l/_kX53P7BYeCTo

B /(1 e

o Watch Video Solution

1
14. Evaluate: d
vauae/($2+1)(w2+4) T

° Watch Video Solution

15. cos® xelo8sine

o Watch Video Solution

16. Evaluate: /9310“(:64 + 1) iz

| o wAr_a_L vl e~_ .. _


https://dl.doubtnut.com/l/_kX53P7BYeCTo
https://dl.doubtnut.com/l/_QdQ0U6VYnyKM
https://dl.doubtnut.com/l/_hMxhh0Stcz6V
https://dl.doubtnut.com/l/_IOKf3jSWyGyO
https://dl.doubtnut.com/l/_DQCvycFzpYU0

L T Vvvallll vidcCo oVIulioll

17. Integrate the functionsf’(az + b)[f(az + b)]"

o Watch Video Solution

1

18. Integrate the functions

sin® z sin(z + a)

o Watch Video Solution

- —dz,z € [0, 1]
in""y/z +cos~1/x

1 ~1
1n L — COS XL
19.Find:/s Ve vz
S

° Watch Video Solution



https://dl.doubtnut.com/l/_DQCvycFzpYU0
https://dl.doubtnut.com/l/_eHzXePrH1X0b
https://dl.doubtnut.com/l/_glUtqQWY7mat
https://dl.doubtnut.com/l/_rkEM5CwmN2UI

1-z
1+ 4z

20. Integrate the functions

° Watch Video Solution

2 + sin2x

) 1—|—c0s2:136

21

° Watch Video Solution

24+ +1

22. Integrate the functions 5
(z+ 1) (z+2)

o Watch Video Solution

1—=x

d
1+ T

23. Evaluate: ﬁ:an_ 1

o Watch Video Solution



https://dl.doubtnut.com/l/_1iFuqHf8UL9U
https://dl.doubtnut.com/l/_XecSNup21aXZ
https://dl.doubtnut.com/l/_vh7BEhkONvn1
https://dl.doubtnut.com/l/_dJ7cE8tLWp3w

Va? + 1[log(z? + 1) — 2logz]

24. Integrate the functions

4l

o Watch Video Solution

o T 1—sinz
25. Evaluate the definite mtegrals/ e’ (—) dx
1—coszx

o3

° Watch Video Solution

T

2 xslnxcoszT
26. Evaluate : dz
0

sin*z 4 costzx

° Watch Video Solution

z 2
2 cos” xdzx
27./ 2
0 cos?z + 4sin°zx


https://dl.doubtnut.com/l/_dJ7cE8tLWp3w
https://dl.doubtnut.com/l/_CumxgCWXMxku
https://dl.doubtnut.com/l/_hEpCtWnRZ6qf
https://dl.doubtnut.com/l/_btF0GoFMWjKt
https://dl.doubtnut.com/l/_1fd3SFOQJK2Q

o Watch Video Solution

28, 3 sinx + cosx da

z \/sin 2z

° Watch Video Solution

1 1
29./ dzx
0 1tz -z

° Watch Video Solution

30./3 sinm+.coswdw
o 9+ 16sin2z

o Watch Video Solution



https://dl.doubtnut.com/l/_1fd3SFOQJK2Q
https://dl.doubtnut.com/l/_mjkeT1Aaf0W5
https://dl.doubtnut.com/l/_tbzYrqtbc3XU
https://dl.doubtnut.com/l/_nHeNW6MqyPDP

31./2sin2x tan ! (sinz)dz
0

° Watch Video Solution

T rtanzc
32. Evaluate: dx
o secx + tanx

° Watch Video Solution

33. Evaluate the definite

/14[:13—1|+|a:—2|+|x—3\]da:

integrals

o Watch Video Solution

34 /3 dz 2} log. —
. —_— = - Ol_
1 22 (z+1) 3 3

| o


https://dl.doubtnut.com/l/_9G3Fr8PHCOHE
https://dl.doubtnut.com/l/_gO9oihR5cgmX
https://dl.doubtnut.com/l/_5lbjLvMrqmn9
https://dl.doubtnut.com/l/_2sautBpbm7st

[ & Watch Video Solution

1
35./ zetdr =1
0

o Watch Video Solution

1
36./ 27 cos* zdx = 0
1

° Watch Video Solution

s
2

2
37.Prove that/ sin® zdx = 3
0

o Watch Video Solution



https://dl.doubtnut.com/l/_2sautBpbm7st
https://dl.doubtnut.com/l/_luYulAaCTAQP
https://dl.doubtnut.com/l/_UqMlmaPZLsFG
https://dl.doubtnut.com/l/_X8U7BxRMiMY9

38.-/4 2tan® zdz = 1 — log 2
0

° Watch Video Solution

1 L -
39. sin” "xdr = — — 1
0 2

° Watch Video Solution

40. Evaluate ﬁ)lez_?’wdwas a limit of a sum.

o Watch Video Solution

d
41./—xis equal to
et +e ”*

A.tan"(e”) + C


https://dl.doubtnut.com/l/_nlfEBu7vzy6q
https://dl.doubtnut.com/l/_HGkrLTMkhfpN
https://dl.doubtnut.com/l/_ijqhGuW1GSpD
https://dl.doubtnut.com/l/_M7bP1P0BrJRV

B.log(e” — e~ ") + C
C. log(em - e_‘”) +C

D.tan ! (ezx) +C

Answer: A

° Watch Video Solution

cos 2x .
42, / > dr isequalto:
(sinz + cosx)

A log|sinz + cosz| + C
B.log|sinz — cosz| + C

1
C.

(sinz + cosz)?


https://dl.doubtnut.com/l/_M7bP1P0BrJRV
https://dl.doubtnut.com/l/_xz2iFC3dhbcG

Answer: b

° Watch Video Solution

b
43. If = /|f(:13)|dw, a < b,then f(z) = 0has

/bf(a:)dx

a b
A (b) ‘2”’/ £(b + o)da

b — b
B. 2a/a f(z)dz

b
¢ —2|_ b/a f(z)dz

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_xz2iFC3dhbcG
https://dl.doubtnut.com/l/_g5Q1GfjqJi8K

L 221 _
44.The value of tan — |dz, is
0 14+ ax — :132

a.l
b.—1
c.0

d.7/4

AO

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_fkgpsouDDz7z

